!

4

T

% 110

A

FPedpy A

8

)
N




*

! oI I@

B - 1205 - BOE - B - R €

KW.HO HE

] PR MIE S EANER - CBBES R IR IR EET -

WHIFTEA —EEABTRETERVEA: - 2016 F4 B EFHARE H
T A Je 10 {E 5 EEEIE S HUHEAE > 2017 AL S*FRYEFH LA
SF—4F €5 DSE JiE SERHR RS Level 2 HYR4H ©

HEYE - HEERIRMEIRAVECE ~ 0% ~ B4 BBOH: > #l
DEETSEIHERVAED - £ DSE tHEUSHEEARAR - @ETRAVEUA
A B HAEE - (BT IEIEEANEZUE VAR - SFEK

P4 B B DSE R JE1G B = I8 -

A BT BRI E GREAG T IRMTHS 2 RIBOR » [FEF - 7
eSS EMRVEN ] - AlEBINIRE CHYES -

WG —EMR—EIEFE - A RRHERTERE > Support

You » FEIEIGES

OKW.HO - (54 2020) REEEE - BERANEEAR |

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



RA] DRSS

b T2l KW.Ho Instagram R ERFIVERC I A /EE)
I DISEELEE#EE 5000 B 2 Unbeatable Notes

B

FFESTS (HE g LR R B0

u [FIRF s LR B IE R 2

All in One Super Course

B

(5£$200 {EE% 5
I RrssEmsn

Super Advanced Course!

©OK.W.HO — Course Outline(2021-22Version)

(@ [kwhohistory 0] Edy - BETA



HISTORY NGB 3 T

’
_4

Unbeatable Notes

All in One Super Course

Super Advanced Course

(JEEER) N (Premium)
2R Free S75@— $200@—
* 4 7 SREEERE 1 $300 * 4 7 SRR $800
* 6 SRR 1 $450
BE N * N ETAERGE 0 B - BEEABIHNE -
*  SdbEreE 8 HHELL L o M IE ¥4 BB HGE AR
e B —FFREE -
2> e B R A s - AR RE - ([ > $heE 8
HASCDA EMEUE: 5** » FF Rl T slai e < S S REHY —
FESREE - BT AREETIME ©
EA * RE{HH 2% 5000 S 1EKWHO ZXE N » ([ | * HAEEEERITM
HE Unbeatable Notes B
o HFEERSC - HE - | ¢ FABRKEERESE | * EMEE RS
H - #3 ~ 5%*%% T EE R M%< 2R E
G~ KRR EE
HEHE |« 2F > 2f * HAEE 5-5%*
s FiRl M T K | < FralElFE A B /Al — | * HeH SR EERETT
HEgE TR EAE ez 24 (fF KW.HO Z | * TEEEE Sl & A
(ELZEHTH A g o O FEE 551
EE BT o 1Bk Unbeatable Notes A
& tricky fiz > fEHEE | KR
a8 HTHEE KE)
BANFE | » N FOE(E0EE * AJfEEEREE 2 ERE S SRRV AERA R RE
BN | AN [ERIE LT 2K ] [E ZEER AR ol
> BRI FKHEL(4 H) * BERTISREME ¢ amal
<> B FUOKHEL(6 ) *A( F)(4 &)
<> RHk(6 H) * BERTIREME © amal
< BFEREE4 &) ()4 )
<> HA(6 EH) * BERTT=REME - BR
< HRE(6 ) RE(4 H)
> HH(4 H) * FE---FHEBEZEH
BOLAR S e * AR S
%) Free <~ {#F Unbeatable * FIUAEFIRES IR
(2] KW.Ho Instagram Notes(E&F-hRRERL) BHERERARRAL -
SERCEEIRIRTES) | <> FEEAEFEIEERR | ¥ SE BRI ERR
E5e - E5e -

©K.W.HO — Course Outline(2021-22Version)

(@) [kwhohistory [

oy - HEATA




2020 = DSE

KW.HO HEBI5EEYELE Live Interaction Mode FRFEEZAIEH 5**
B4 o 3 EL A FRAR N s RS B S » S
J375NGE ~ 5=

1. AT BRE TG ERIE 2 B2 (B 5**E2 4 » i@ st
BHEN A RREREEE et EARA T R EEME 2 22 4)

2. AR TR A B2 A HERR LSRR TRIE I - REEHRE S
B2 A K HE A E] VA DU TFHYBEE 2R (R E e ERhE A A ]
AR 2 B2 A HERRAESD  #E L RIER EEE)

e EL{[E=RFE 7 Live Interaction Mode 224 A 87 : 111 24

A e AR - 102
FEAREES A ANEL 9

Fek N Ebfil 82 2020DSE #:pg8 4 s g thix

S 6 5.88% 4.52 1%
5%+ 28 27.45% 5.28 &
5+ 58 56.86% 4.31 f&%
OKW.HO — (E#1E 2020) KA - BEFNFEAR | 3

Bl o @y 5 IR RN - SRS IE -



PUNZ 2019-20 - REEEA (Y73 Comment » YA = Bl ET EHOB
EAENRE - DA E AR e mon iz - HEA L% - A
H o OMS R - E A IR [E 22 m] DUSAR RS - RSy
1T DSE J&R EANER3S ) ~ ERRERREY AL -

OKW.HO - (54 2020) REEEHE - BERAREEAR | 4

Eiciie o @mnsey o HEIRFHISERESE - SREMHRIIHIE -



HISTORYCECTRES

Ef=
KW! BRZRIFEL
FEZEERR—FELRHEHZMHZ
AE I EEWE hist B/AE{RITFF
B ENER OK B{EH T EIRIBRS
D EFRLMZERERES LTS &
RO B EER mock #MMERINZE B3
HERTMEE—EBEESE, ., SZHF
—E#fLEOE BB —TEEEES
MHIF BRFIFITFZEHR @

[ | [

& =
Rt 2 855 45k 2B 51T 2

EA

Ef=

Halo KW F check 1% 5 A& -
ﬁ5*11(\-ﬂ Voww LTS TYEYEN

q?‘ cf v 4 L ,.u\_.;
m%f%ﬁii_iﬁftﬂﬁﬁﬁﬁﬁ‘r POOY

SUDTOECE O O

9? E A0 R AT IRIE RN A e — & 11 e A
%’g‘ E-Fﬁl-/{ﬂﬁugﬁd\w,l.. R ailln aitin dhin

l’)df C ]

8

ROERE AL RS

Co E5 s
b2 > RS R

EH=

FER

¥%1% retake ¥1& history » £F| 20194 10
B #chaiA:E history » T —BFIRL
kw o SCHERESIEE *‘“H%EE@ZE o8
RRTEE retake BFEELF - T RIZRME
Hh—R&1{%:E history » [REZLAEAR
18 5E history 1@ syllabus % » T H&1E
HBZAMEFERTLF > Wkw ho - TE
HiZigiR kw BB F1% - BT —RRR0
RERS - RS 7TRBREZEBIERT
BLEEER > <HBEEGEBABK -
MmEEA kw BiRE 212 » BRTEFE
2020dse ;${%Z history —F} » TRMzE+—
BRIE= quit u » 20\ history - TIRER
FE 0 BFE—ELTZE kW%‘B“T”“’J
R E S 4 RIS A ThERBNBF LEAT R ﬁ'ﬁﬁﬁl
BF quiz > SEAETIBAER EHEH
ENRIRHAE 55 - BEIFIED - ﬁ
12 kw B Z B ISEIPEEE R - SFit
A LABE 5 it BR(FE M - M H kw S LEF i
{Zwhatsapp 2R & » MIEMEF MRS
FRTE > I AE BRI EFRMIRSE - iR
1&% |1Z ZRIRHE » fRIRE » ST
EEIThERE quiz ﬁ‘ﬁkWE’JLUHﬁzﬂt scan5g
send EtE{EEX » {E2A5EH send iREEFKk i »
LHEUM MURBREEE - MRREFHEKWHE
T > iR level 5 AT E » {BIZEK
IhFEID !

SZHURIY J

hist 5*

jupas so far —J[EF!)

Again, thank you so much for your
support @

KW 17 Z 8RB A M ELEE - SRIE
PR O HRFETFIFRUAMR - BIZARK
EBIEFEE » essay XA 17 IEE,R
T > AILAZSIHET - &ﬂ%ﬁ%ﬁh\ .
A8 - IFZ RN | & Es

-

®-

HE=ZEF/R haha &

o

= thanksss again !!!

REEEHE - BERANEEAR | o

OKW.HO - (&% 2020)

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



HISTORY IR

5K

R HT B MR NE B 2R (22 B I K = 1) !
WHIR—E - BISIRIE lesson {RIEEF%

<K

A&
144 topic B turnings point
R R I

FZERTHEEFZFE

AbSize Table §EH{ZBAKXE

Key Facts{zEAHE
ASTHE R E %8 B 7 B 2k e #)
R AB LR IRRINA

FRIE 1218 58 4F = HR
RREH essay

KT A ptlEH e R1EE ts+facts H
Z 1% answer Z tick ##iR iR

HH AL facts
Elaborate fR X 2 Fith F§ 5W1H
XEZERER

ERZHEEIR kw &

WMREFTFEE

— & 0] ARG 5 5%+

SRKET sorry @

EH=

hello KW &2 (7 IB(E IR R E151E 53R

B o TR EM AR RSN
RiBHE DR appeal BT
BERIZF R EZIHZ LR essay

BAIRTTIRIBEM chur FKit FrIsEE %

5 3 e AAHRF— A BB 2E
B REEOFOKER @
PITA 25 SR IF kw7 B B2 3 th 2% £ 4 i
SHEREZME IHFECTHTO®

Hi kw {2 3R = 11
WBAEIGE | ZERE W

8

& # okl best 5 26 FPHEE SEK

8

Thx kw & IB{A{R chur 3 52 history &
47/

OKW.HO - (&% 2020)

1505 - BeE - BhA - BN &

Ef=

kw J\5F 2 SR — B8 LABRER A B Fi 3 22
a2 S hIREEIR BT IEE R AR RS
HAENEE] (B dse IS HEEE LIS E
REBHRRBFEE MEWEERFRIRLE
B A BRITFSHRe

MHFLEF M 2 &2
MEASR AR BT LA B /O B R i

RIBIEEIHY - ERE TS0

FIBIR history BRI 541 ? &

1

’

RiBIR history BRIk 6411 ? &2

5]

IZMT SR T 1
EH=

ZHIR oS HER N B S History 1
4, BRZHEXE FRRERE  AAHK

R BEHES - —FMSREHEMIRL - i
MUETETFEESEE - 5/ essay
BRAZET  RBET ¥ FiMAEL
B % essay BEIEIR T » #BEILAERI 4 B
9F74F - NiBEREIERR - BA ZIRET LAYAR
IS4 E AR AT A M E 8% - 1513
REEBEKESTZABERFHTHO

mEman  HZHMRLNKELEEL

= J/ =\

R

REEEHE - BERAREEAR | ¢

Eilkw.Ho 2] (@) [kwhohistory [

s RTINS ENERR > SBEEHRELIRTIRI T -



*

HISTORYON R S T LD

RIAMCEE B HRB M EIRITERE
BERREIK aim B 2 IEE 5 MHFE LIRS
1S A MR EER SR BFRORIE

ﬁﬁ? BB 69 2 BRI
v
!:'4. 2D (=D

HASHER
RERIBEE R &

FEmEMREFRRT . TE!
v

¥ HB1ZE TR0 notes &=\ IfEfE 2%
BEHE RIRINEBIZAEEL notes #3
B e R BB WMEHERZEES SR

R oo o

ME——FH EMiZ hist e 2L EBEIE
qﬁ"’ R hist 11 2FEFZIESIA hku @9

SRS

BHOHFERN & &2

Ef=

kw sir L2 21 BUAE pY 45 T ~ history & 5 @9
@ e HRFZBMR—EURIBHEISIS
i@dghmf RERTES @ @ TIRBEETR
bio B{&#1R & 1

E{% bio 1% history &2 &2

SR

kw sir OB BORE R 4B ~ history 7 5 @9 @9 & BL{%
FZER—EARBEBEEISS B Jd 2RI BERGE
® @ T{REEEE 3 bio HRIRE1
1RIZ DK copy send {2 bio tutorﬂﬂExS‘(%ﬁ
ﬁunu

[E{Z M 1748 & bio Il &2 2 H/IOVE 23811
SIS 62 @2 @ @

8-

OKW.HO - (&% 2020)

EH=

KW &y}lu\y¥/u\%;§“ﬁ{_al—/{u§a hiStOfy
BB Z AR ERZERM Z B

78 - HE f6 Bim {2 2R E (R {E mock #
pre 18 4 - WEH B CERISZIFEELT -
¥ 5B EE cartoon B8 » FRIAFREPIF B &
BEZF 4 BEREBEABS M
HEFZ8MR© @ IRBHEE —EEE
ZIIE B p% 45 thank youuu ., ©9 &)

/I\\ = Hﬁulﬁ]ﬂﬁﬁlll
(MU RS 35

S

#BTF Z IR BN E R

AT B AT EMENE RV IEE A @
BiRER—EE LEZME <2 FE O
A EEEEREEEW
MEE——EXEEREBRE RS
ZE Z—INERE AT EIEE 0BT
Y0V
RIBEOEERINEE FERAEFIE
= NREZEZEWEGTS BHEEMR

(&)
-

Hi KW! 3 history 1§ 5 &0 BERIFEIERE
WRSR ive B4 - HEZR#MESES
RIGEH » pIp2BEWEEL) - B2E
17 BT S BRI ERIEE - (RIEZ
FRRBE ——EBE LBFEEMHE
ZE O NREFREIIR—TE4

F b5 26 fEzZ a1 cu journal » IR{F{% cu
socsci /soc work

Z a8 kw!t

KT - AR | 5

Eilkw.Ho 2] (@) [kwhohistory [

s RTINS ENERR > SBEEHRELIRTIRI T -



L 2

HISTORY N
B

Hello Kw.Ho .I'm &8E%: ahh!1A83TEINY
feedback tEfR (?) FHEBIEREZ
feedback gl 2

B EA—EBA BIFESIREE set
RFRE EE 3t i dbq essay I practises %
BEEGEEREE ! | BEBEIIESE
EMBERTFR~AREEEZEEABEEA
BB ARPE S0 r] LAGRE TR IE pt O IRE

(HEDLA—HE keep EIETEIRAR 8 72 %S
sk kIR B (R EEIN BEHES )

B EGREER~ BHZREAAM spacing
AILAKIN HERERFIFABEASEE
mEZR R4 common ptiEFE EEE
BEARR !

B ERIER B IFM R o REEE LT
RREEEIRIEMIZ AT RO A E
¥ history 78 i [ RV & ZE LEZ ATBEIERR T
AIBEYR 5 ME BT F R (RS {E drop I§] 47 =35
{RIMA T ZI R history (R pl - FME—
BBR BRARRBESFHT TS

Hello kw SorrylBZ $TEEAR |, 125 MR {k - BERLL RN A B 83550 A IS
liveBE | 7 Bif&cwb Lvip BB 1517873 1217 80 68 ob el L liveBES747
3 b — B ch I 2 1 AEE0 2 Bhistory BIREIHEE - E5khistory BT L7
Sskills - Bl ST AR o — B MIEE S Thistory IEE - (PEE—%
i FquizEBITE | HEEE - DR CENENRERE SR EAR
RUEDd quizE TR - £SR—ETMESERS 6 HiveliMquizE %3 A
A IR R RIS E S R RS - —EIAS 5 Knotestt
FEAFRORERERET NS E N AT RSB AL  B2E%E
AR ARG EE - FRA RdoqPlessay EHERITS | T EGHERIG
mock FIB R skills B4 15 5159/60 - BAARIE S EIEE - [BR#MdbgWis
HEGTEEN @

BR7Ed skillstFERZ S - REG—(EFFEEE e EZhistoryRHEBEC
—EX - EZElevelSHBE - FRHNMTREEHERYE @ BARSES
level SIEE%ZHRE—FERHMARESE - ARWE kwiinotesiT{Ei1E T
EEE | | EfiFinspiring@d " RINAE ELREE - BABEHAT
%, RORERERER Edels 3 0 B8 - EAFIFIFEBR | AL
BIEERJIHIRQ AR DERIPLENED o o

OKW.HO - (&% 2020)

1505 - BeE - BhA - BN &

*

?,J
EH=
KW IR E] 5*1F @ i SR — I8 IA R
BEHE > HR—EH—EEESHHLFER
BLTSEM L

FEE AT

RHER 2GR o o o o e

RIF &

8

ZHMRIT @
Kw .
KA B B AL History 2%F... @
475215 8 2 P History ZMEZ B
BE
BIERE B 314 2M .. 0
FHPOAP A ERMEENENTERS
el Fee s — B 4 T A B Z21 58

MHistory #Z4 DRIEEE E{E AVEEE M
MRMMANRE L —FHERENRES
DSEfEzRE— @A %
HA&BRZAMERAE 8% 41E points
MR 87 BEHZEIHZ (EASKELS

e
L B AR B A (R AR ity 118 R ] lea
B ILIEY

—FBGEHROEhEE—EETE

BB EEERRRAD

B LR R 7S FIRE SR Live interaction

mode

FElL 8 2% 3 DSE—ERIRIE 5 %

— A EFKE b by {RMEETE FE I 5

&
El?iiﬁﬂﬁ%ﬁﬂﬂﬁ%ﬁ%%ﬁ%ﬁﬁ&ﬂéﬁﬁ

62

FrM SRR FH R EIEE R IBE Dse i& Dse

L T 2% 22 IR 22 BT 1B 2038 3 1% FE /R ML

558 DBQ

EEMBEEFOARE
HENSIKER Predict & Level 3-4
FHA1Z{R{D Mock Predict F Level 5
FAZ =128 DSE #%! Level 5

HEFRHOERERE @

RIS - AR | 4

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



& g

‘ :l%::;»_“yo‘:l}%[

HISTORY NG T

L 2

B

Hello kw

RS 00

IFHIEEMRTIRM FAjEHITRE
Jupas IWEFIE1Z

HIFBE1REE S R

HEPAIRIEZ AR AL B IR B A H 34
BEMABRORIRESZH

HS/RDse BELRHEEL S

HMARHEITS BRESHRE
H—RiaP EEsE0EEESRE B
REMEFEKE =

BB AR EREEITE

— B 4R 5] o 5 I 2 35 &R 47 573
BEMEWMIREELIIRRZEK

MNEB R IE 1P 4T 2 BN L ER R IR 1B 88
BEZBBERAMEBER CERERAR
E15 Weighted score BEst 5 A%
IREERFBE EEE—F
HEER G RMIES AR EEMRE
B PRSI LE AR A A
EEZRBRRZINER & Miss Z2—[# live
video lessons
BEGEFROEQHEED
{BAREMEIE MEMRETEL —EHE
ZEIEE RTTHER

fhRY B B BER B BRI BB
MFAREC FRMEEEMRE FR/OFL
BREBE T ES—A LREHEEE
BEROFEETFRAOBSEE

ME{# Keep f£—AZE B2
FEMREARARFETEAGEHS
ﬁﬂﬁﬁﬁﬂ%%%ﬁ%@ﬁﬁ%ﬂ@ﬁ
AT AH B 3 B TR AR AR I Tk
ERRERELZR SR EFZBINR
TIREMEERRENE
BAGRMIEZREEREBEEA TR
BEERTC

BHFEHERER

E & iriEr/\EH

HO A B E 188 T
BREHANIERLS BB EIGEEERE
KELIFME @

HAB oA B BT AUE 1B
BEMERE—EEHTIRMR

¥ Dse best 5& 224y

HARIBIEN EMREERELRIEE
B UMz —OR

RERREZ FROFRER S EFOR
HFEE R AT R

BERITE BESRERBLRE LS
FRIFEEEM & 7B IF Z L B ELD
%EDA%’%%W BEMA AT IAZS TR B ER

MER 75 ZARPI LA Keep (X2 Z2BR 43
FELHERELBAREEFE O

OKW.HO - (%&£ 2020)

“M@ kwhohistory  [Q

©

BHi=
Cyruz » Hhist S EE YYPYP Y

L el 2 & 2 &
ZHAfO 0000w

8 >

Best 5 279
18 appeal F L HAAHS 5

8

B{RMF ZERE B OB EH - IB—F 1R
BEEEZRIBCHEEFRES @ & 28
RO E— o IhiRE test » BHRE
HE > BREMREEFEERINGEG  BE
1%4F proud of BIHIFEIETE & & - 28
TOO

Ef=

sir {REF I

ARG 4FENEREERCEMEE
W o0 IR AR B AN FE AN R B A (R SR P 4B
BT

ZEMRIREHRE ¢

8-
ok!

FER jupas REIIE BB M

FER

Hello KW. .

BT E BT LA IE 1 2 SRR E B
E ZERE2EHLEERMM quiz B hw,F
BAEESEIRIZESZJ > NREEEREZ
SEEH MR —152 study leave o & 18
past paper.fR{E—NIiFH OEEED (R E
REBERSMNEZ2MERERIFERE SH
IhaR/quiz $8 1% d 18, < TR M A0 18 IE 0] DA
TR ER 5 R EHE M mistake, 71 B 25 1ERF
TEF 127 RS /R IR B2 R A0 & 4 0 /OMIH AR RE © 40
RO{RIREIEZT 5, K2 HIELNZE hist
IE% skills.[EI1B R AX B 1L F it count BF RS &
FEBRE FEMRE—TEE count i7F
B EL A R ER A TH R e 17 1T A MR RS 5
AIHMEDE & @

Thank you KW, .. @

s RTINS ENERR > SBEEHRELIRTIRI T -



L 2

g

HISTORY NG T

§

KW fREF ., FE IR send BB M3
FBegETCEREE S

HZ LR FORIARRME - XERKE
BEMHIR - S8R T o &V —EBANED
HLEVIPEFZBWRREHT - LEEFE R
HAKEFUE—EMETT quiz#f=1E
ZRL 3FIEE - BBEEE T R XN EEEWE
£ » 1 5:3044%9:00 - E{&_EFFERMEI
FREEGIFEZBIUBAEE live
I MRBEREZESERAABHE
W history (R B R ANGHRIBEHEFSER
FEIEFEAN !

LESREIEERERE live A D2
W ATRERRICEERE XD AR 2 RSP
A SEEABREKRTEEG

il livelt > WIFEESE quizlliifso -
SE M ] DABERS keep (ETES HAREE S
pea BREEM LE&FFERAT » &
MAZMAI LUREANER » dse & E HAfE B
BRFIHES - AHZSZRER test 1§17
2 fi# marking scheme B X EIE 2 N2
05 BEAERY » S0 13 5 5% 2 1S I SRR
e > BRI test ZBR TEERE
BE{ZMEA{H A A whatsapp S HEAF
RSB 15 —EKE & whatsapp T FRILLESE
BREINRAZERWIE e

HERFGFEZH KW RABREEHIZEER
EH 0000 MG EF OB EASESR
B2 EEZE AT HEEH or AEIEEEM
B 15 A5 control IBYF o

A% All-in-one E B HBISTZMER (K
rEEES —RZEEEE R FEER
BH) » BRLTEHMESRBERSE
SEBRK - ESFTEREEREILRH
BIRGRE sample+ B (BHEEMEZSESR
B) & ZWMBEE (eg.BME) LH
F—INELE e.g. BEAFEFEBRALE
HLEE » 2EBIE sample essay E—ERE
copy J& HTE - BRERBAIEEER
points b (AEEEREQ) MAI2E
HHFLLFEE R inspire T

Al capstar TIKBAVISHERAZRE S

ERFAHMERPHATBAS - ABHK
BEE FFTURENK - HEMGFSHIE

FoiREA & MREAE IR RE BUAE SR R E R
BRI SIHF®E &

btw > AERINEFIERRBRE - HE
KRFTEAEHE HIRRE— e

OKW.HO - (%&£ 2020)

EH=

hello kw!'Z history 5*17F! @3 17 % R 2
BIIHERE{#IH 2 advice B SHRE BRI
HUEE A I1F 217 % essay HEI1%E dse ff[#
E—REEOHE BEFRFEZHR
I @9 @9

8 >

(I 31t 500 18 4 Bl VT
BRI B S FEF A histo**
Ht & EFRT TRBERENA @

BIFZ AT 1B Brian F....00...15{%
{& Kevin 0F

LER(RE SR FEE nI AZ RIB =R A4S
MEg 2

BEFEE A ALEAZR ?

MEASE 7% : kw FAHIE kw &) &

SE S TE P RS IR A IR sir 1R &
REBNERIEIELR

A %8 A IS EAS— AR ZHERMEL -
HENZ L5 RFRAZTHEE13%ERESE
BMEA O (FUR)

Kw BB AINE

BB Z BB IR NY sir fRIEMT O - EIIEES
E—HIBERF% - MERAEHZESRAS - EB
WS EEZTHIOH —RALBE » i F—F
IAER LT = BERR IR RE - {B1% kw {R{T
RO ~ BEREEER - EIR&RFRZ
FZEEBEDRME @ - BRARXTIER
ZEXSRKBERRAREME (R

Bf - B REI D 25800 %5 E{& B85
<) AUEZR kwiiBEETFAE—(UR
BEZ -F-RILEHRRZEEEL | iF
REE T ARRIR 0o

A VB BRITRIES - BIERHITEER
o BREESEA+IFNT  RRME
BN sirs@ 2R 58t |

REEEE - BEAREERR | 1o

“M@ kwhohistory  [Q

s RTINS ENERR > SBEEHRELIRTIRI T -



L 2

L 2

HISTORY IR

sorry Hfit TR E OB RIR (CIEEBIR) &

HEEJHEEAZE Ehistory, EShistory BRI R E52) 7 - SEKNEE

HOLRES - BEITAEBRLZENBEESS  BHREETEMRT

LU Bl EERFREMEBERD - BEIASERNE  E8HANL - 7

EERKE - BATLIEEES - B0k - BERERESE - (BXIEIEDSE

EB/R - G ASRERE - BRAENBEIERE G TS grade - BiAH

1R -

SEATEM R A MAM—ERERE  BEGS2IH2E - ARWEM - HEA
history#$3BBE 75 - SEHE Ekeywords 2 - BB EIEDBEEEXK - £
Hikessay - LIEEREFEEESRE - BREFERRIE - matchBEIER
Tk - BAKRRBIRS - TSI EE - FENEERESEE 5k
AFE - FEEGWEEpointsEAIF, 18 FEZENFEE - B HREERE
BT EHEZDBQE Hessay - BURETkOMEE - NIAHE - FHRIZE
HOLLER - M EFR EREBZGEE)E Stest - X Hexercise - FILUNR
HE A HIAMEE  —EOULESTYREDS | ER=EIEE - Fill

SR ERIEmock#ipreTi4 87 Fistudy leave AR E B R HRELA - EEEEH

%85 - HILIE - somy KW i &

MESESRANEETLUBIIN - —EFHE L Hhistory - FRILEBE - 17
AMNEEEEN - @ @ A EEFstudy leavelBIE B I H AL - #R
comments® - FRGEHEALETUERSEY  BEaWs - 28RS
FIFE B history BTEEE | &3 &8

PS. HE B AW EITIRRIT R R

HER
Hello Aif FEIESEITRRUS LR

BT 2RSS live BT MURE P —1E
fERF HAREMES 4 RIFKE B1F
BB EE—E SR IMELHEBMRBERE
BRE RAERERREEOT T OE SE
SEZBIN 5EFAR FRLASTE 57

B RISSEEE AT BZEEAE ST
MEHE (BRI EAREMOTER RmE
E— 2 IHERIMEE &R EE 47 5% 408t comment
H EHTUBMFd

B—MEL S—MHER S RrEHEE
MR ERBI M LF (RERFHBRE
i8R S @R

A EEEMPEE quiz{RZIFFEEIF chur
BN A quiz Fitts—M—17n
THENZ D REESE2PHEES
RZ B MEFRRETHE NARIFHER
TR B AR R It AThERIEZR 5
B head comment PP HEE B dEE

W FRAEGE OB SHIREE

HERBRE L —RS 4 B8 5 ERE
H#A3 5 MEEH IR BEFREERRME
Rk BR/OHRITH BAKRENT
BIBEASIA (BREL AIEZHMR A A
FREP—EERE -—ERRBERR @

OKW.HO - (&% 2020)

1505 - BeE - BhA - BN &

Ef=

Kw i 28R S EIRHE

F history SAH 5 > IREAIEIZBE -
BRGZHN > SERBRARIELRE
=HET > FRRERASMRIFSER » BEH
BREFSHER L .88

8-
Kw

fPEeiEE—IRDHEIR{ZHA Kelvin O »
{EFERFIEIEARPY - B 2813 History pick
up SEEMARME - 2P A FREBRE
REPEZEERBE =7 > FIAEEERBE
B - FE L7 o History BUAEZRABS
R BECHRBERRHEE - iR IR
Bl - REEF4EREHBMHTR - B2
MFAtAE THMEMER 28K T8 - F—H
2T B R IRBE video IREE E
L2 - AR EEEREHCTZ
AR - M{ZE81% C BEPU{E pt, W essay
structure FBZE—7#& - FFIG A E Z K5
R4S - Bt quiz - FEBCSE
RAAE - BRBENHIR - BEZEREE
B ptHEMEHE - BRMPAR
live BT » {REF(FHRCAFRIREISR - SFRIEES
REA I EINRRE - A EIRZRIRTFE
1Ly o BIR1E mock » F e OGeE#ERSE
fi - BhENEER 5 BT RAFET - BR
ik mock X & 5* » B HEREIRE

IOy o F# History T B RAE - TEE ZRFR
1% paper » {h L #48#18 cheshistory If)
paper FAYRIN skill i - A4ERIRITF = E B
essay [8] Dbq - Il B BEE AL A& E T 4F
KE > HAEBIEHIERTT - B
History 15 5* ZE8 /R EEIEE - A E
%3 DSE Rz KBEER - MAREAEE
FEZEMREAOHE > BEBSRIGERR
BEEFZEHCEEN c BFHBZEMRR
MBIRIEE A © b kw Ho ZUBEEA A4 &
PR1ZEWF=E > History :BEEE AL > &
SERFZEEMAEES -

REEEHE - BERREEAR | 11

Eilkw.Ho 2] (@) [kwhohistory [

s RTINS ENERR > SBEEHRELIRTIRI T -



Hello, KW,

BEFEE  BEBHIEMEICE -
FRAT R G EITERRE °

B E%Eﬁ%ﬂﬂ%ﬁ » BT8R R RIE
B5*» @BEIKRE - R » SIRZATMA
KF - A EIRBIRRE - AR EREARK
% study leave IELBFEFIIATEET - AR
BHEEORBAROMER AL » RIOMERE
> BERIMREPERIEEMEEFNF &
ABEEH > AECBAPELEE TER -
ABERE  RIEKATRBAE HEE
WEIR o

FEEREHARRIK s NEBYNEF s B NEF » —
BE#EZE—EREEHIRELE - FhE
T ZISEATS SEOE s » FRAR &R IE AT
- AAERIRERE » FHRINEK » B
UARE B2 BY 22 N $R0& TR o 304 o PO 1L A
& » ATEEZA A —E LB DB
FrLAZER S BRI EN S FERIESE - LEEE
BB SRl RS B SAERIESE - (RZIHENER
F o —EH#ATESEE SN > 2P AR
BB NEHARIERE - HEEHMES -
£ B EEHE R > H— TU%?EQE
BEth 75 - FERZFL AL RERY « RIS EIRFE
B - j52 > HHBIIAIRMN past paper &
i ERAEE—S THREBEELES
EHEIRIEBEEELR4E - (BENHEAEBIE
HiEss » MEZMET2 BTN
BREFIGIEIE - FrIAB(RBER—BBIE > £
ERZMEN EEEIMERE - AMAZ
HALHIR RN - ERFMIEELERE -
Beh 1 B [5) 25 AT IEE &85 4 Z{ﬁ: X B KW
sEBL I F{RR%Z » 2R HE Capstar
FAIRER - —EFIF7<E(EEE all in one

super course ©

T AWERZER - MARRESRIE
5 BREBMAMER IR KWETLEEZE[IH
fid - T EAERE R IEE

FERITS » KW If notes ANIBERIESH 25
B FHRTEEEESR  -mMATHESE
H iR ARIEZEE S out syllabus ELE
ERMXAER o —4 KO EhnEEAREE
¥ —BERLEEESF - Enotes ABNER
EHEF - HERZ50H °

OKW.HO - (%&£ 2020)

“M@ kwhohistory  [Q

s R TIR S ERERSY -

FERIETMS - | notes AR T B3 E&FR
EERHTE - B3 % DSEBEHE » Hix
A LARLER AR ERNE AR K IR - 3850 : REIR
FRIE KW E B4 - %%I]Eﬁ%‘fﬁllﬂb{
HIEEN AR LIR - ERARE LR 2IE
Zh - (FHEFHEFESSME!)

MIFIGME - KW BRERITREESR -
PAFEEREE - mE>F : B | HisFid
ikt - T PIEERE —EShiBEB
skill - #EsR1% DBQE {F essay » RERI(E
FEREE - AINITZEBEUH G IEEHIRE ;
B2 - XNIRIR{EIFERGEE ﬁﬂﬂﬁz
BRBRAEER  H—ET % - 1B
B BRIRELEEZSFERLERA - KWE
A in B L B IR A RAZ E R BEE A0
= REZR{% > (EEskillfkBFR (£
‘DI B 19capstar & 20capstar &
) MFEEHHTAE - FBIREMBFRIFM
Hitt#BEAMN - T TEBRILE - SF
HfR—E skill » HEIERAFMAEER -
ATEXEBERBHBEA - FFA - R
{RMASE—HASR HIH 233 KW B skills » 3%
T—{EzREB R &R AMEI 2 RS
K WFESRAFL AT AZ B AR B 8 -
MBEBHAFHME » KWEFZ—EFZET
MmEEEBEA - RIEEHZER - =%
2RMHAZRNERSEEBEFZREL AR
B MR AR RS E A 3 D BERF (I E
AR IHRE - B{EMELAR BB R E 2 - 1
BB ATEZE S feel F -

1k » BRI E,EIL\UH% RE) S8 - #INER
BELBKRETF > 155 BEEIBFEKE

ﬁﬁl)‘?%fﬁ%]\% ’ %*ﬁﬂﬁﬁﬂ%%ﬁfﬂ (282

KRR

*IR AR BT AL IR 0 25 H L !
AR RS E T IR KW B !

REEEHE - BEAREEAR | 1)

SBEEFRELIR IR -



§

Ko ~ ~0

HISTORY <=4

o MPOA R AEEEE R E— R KWL
Summer course, {EiFE % B S B L FAY
FEEHIETE  IFIFRSE - FRIAEESE »
HEFBEMERR TIE—EEB TR

A&

FIRE—RZRA FIEBEEEE ERZEE,
MmiR1L, 2 pt o ELKE B, S+E,SK2, BEE—
A=/NEFREER ELRILEGE
K.GEMEZALRS » ARG EERSE
IH-

BER » REEREZI » B EIES
M > £ KW B Live » #2325 BEIBERT RE G
R FTRTEIER | IRER(RETEIRAEIVAE
Iv5 I ER1E DSE FHZEAMA (3K
RRESR)

§1ﬁ§EUJIﬁ ’ Ij]g%uﬂ&ﬁ%jlﬂ_\%ﬂxﬂ%*ﬁ, , 7_"
BB AEIE S -

EKWE > 7 gymIH » RABBEEIAR -
5o R] LARE(RVR E A 1B 3548 -

BER - AN RSEE  EBER > B
FRZEE > IISEZ - TAUENARE
FRERVER -

KW 89 mock b 175 s B 58 £
{EDSEBEEEMEE - EEFH
FrlARE B #ESE » BRI USBSER
#HIEFFEET - IVSEBEH D2 -

(DB EIRE )

KWEEERIRGTS - B—TEE8 N5
AIVRBEE » RIRER  TEBRA
BT B  BREES T NRE
m o I T BR—TERRIE R A - SR E S
i BCGANESR -

& ZSHKW ! &

OKW.HO - (%&£ 2020)

1215 - BE - BEA - RN @

©

FER

ORI TFX e BEHREEZHR .,
BABRERFOEMAIEYG » FSEA4...

L Z2RER—E NE (& FOMEE

TR —EEFMSRITFEE
{BAREF RRG R A FH I A0 — 1) — 17 257

2
HEEHMAKEGSHZMTEER,F
A heart!

ZEIR—F8E |,

SR

hi kw » 22988 DIBHFEEIREE  FME(R
FEEBXABURERXFES » EES
HIMEBEONEHEQSEE - EER—EHEW
BeEREHEE—HREIRRE » (1ER
30 D HEM—1RDBQ » HEF Lo ° A
RERARIERE - HERG —(EEBEMERE
BT HAREMEL » 30058 HIIRE
Z—EAKEEHE, - RAFIFEERE AR
BLE—MRAE > FILAMZERZE 30 5 BT
# o FBRREALTEIRFRIZRIEERE
R A IEEREE N &L MmEEED -
MHZ REEERER - [RAF MRS BB M
IEREDEE » (BIRIRSRE AT AR LU
150E - HEHER - BEHTMBF—(ET
KIEFE - FZRIMTEBE2IN—IMmAR
BEB 1t - BIREAEMBE IR
TEIRE L. FBEMER EERFE
0> B LAGEE RS L - B AEHA
BE—EBAT - ARHEEFRIET

| W—IRETE L AR BHIZRASLS - B

B - HIEWRGF D EIWER. EHIE
sorry... {BIF SERHIE - WELF4L &
Ll BRERTEC - IINEX XM
—EIFERE - BEARFAPREE] —E AL E
BESWBBWSE - FBEEINME -
HIEE > HETREBNES » MEEWIERE
I& > {B{ZZHIREIEE (- ws )

FHERAE...

REEEE - BERERANEEAR | 13

“M@ kwhohistory  [Q

s RTINS ENERR > SBEEHRELIRTIRI T -



1505 - BeE - BhA - BN &

HISTORY IR

MABRBRERREENBRERIRE

BHRIRIF o2

a0 15 A PUME AR A MBE 48 T #R A 1 2 = 18E
course XA NEfE 2K EERIFRA & B
REREMRAEERE SHREMENS &
FRZEHMER BRI AARE R IRFIUFRIR

A8 4w 4E BB TR HZ AN - -h 1= U 15 28 1= rm 2245

IFrdY W AINIAAD PAS N/ DA AN J/ReER /) 174 1)

R HEMERERZERUNEEERR
FHREFBLERHIEIMR uplFE () EIR
HRMBBEWEFE R tim @
BFHREE L reqular BiZZP A E AR
mock 3 iR 1 BY 48 < 14 1% U MBE RS 1% 55 2 I
I HEEBREEEE histh AR BB
it B2EBME—E HEMELE

regular

HiG L h—

HA regular 7% final & iE

HAZREEERLEREX—F
MIHEM—EEHEIRE
FSEMRELEMBRN HAE—HRM
¥ video B} {B{R{RIFIFIHIRFE B KA live
DEBEAZ FeA B EP IR E A MH s (R 1E
EREEEMFEEITS BEREXIEFE
B say nolHEMARAESEZRA/SH R

Y=

HEPA R = TR I L AR AR B 52 (R IR AR 22
F2ZHRE@

) FEENE B A R BB AR
&0 block BEFTE B @K &EZEHEIREIR
{RIPIFIFIHZFR IR JUPAS @2

ino 2 e & HAIF — R X R 2 1B
HRIEZERE ¢ LB E=]UAMENRTE

HEBBEE e
IR
B0 (HATMRETT) MFRBMREEASA

B{Z R MEFE FUAL FNE 47 IR Ve R Z (2 IN(E

HEDF level MEFEH R R

?
B |
Ri1Z EEMMERE TXZHIR & i_
T hank 1
Y ou ‘
from |
your 1 5 :
|
OKW.HO - (54 2020) REHHE - BRI EEAR

Eilkw.Ho 2] (@) [kwhohistory [

14

s RTINS ENERR > SBEEHRELIRTIRI T -



*

HISTORYCONGRE TR 2 R

2020 4 5**

s 1111}

Vsl 1A 7 vl 1l

$5 M ELES Y iT DASS 2 P T EE m] DAUEREE T By SR A0 > 2500 ~ EE - A
{17758 ~ Bletent - BASIINHEESES > A5 Tif2EmaE et
R - EBRVE R E R RER A - CHEEEINEENE > aL—X

W T — ¥k - AL - FERRAERRIEHT - IRELEZEE A EFEAE — MEa o 1148
% S**AYFFIR -

OKW.HO - (54 2020) REEEHE - BEAREEAR | 15

Bl o @y 5 IR RN - SRS IE -



*

® B - i%)5 - BE - B - BB 6

HISTORY:

ARE - SEMBLES e R SRR - RIHKRAE AR T4 LBTIRAY S4-5 Regular
Course » E&EM T —EREEIVEBERE ST o A 2019 4F All in One Super Course
Gi% - $51M ~ SHPIT PE— AR R PEREIMER VAL » H3E 100%H77L
TR~ HIERAYELES » FERRIRIT R 100% (1 T #efas 7 —REIREER) - 15
WAKIMNS » $61 -~ fefbHar R e EE R T RAVMEZSK » BIER N ERIER -
BB RE ST = o YRR (BRI AT S M REE R EEE % - sE AR
ErS25ah o 4% - $51 - SefP R AT - BEEEELG 5 o BL T FFAREL 5**HY

ey

J* DSE Jith51% » S&MmAEE IR s T BRAEZ 7+ FE sh R AEZ0 28 - )
#£E4 Live Interaction HFEEZAEFIIIER - A ST HHEFBEIE > AEEZRN BHEEE
MASEFEINEE 1) IR Aat PRV ERREL ~ BB S 2 |

eI A2 —3t
H 11 fir [F1 22 Hz3E Live
Interaction fE={; » H.
3 fiL[E]EEHUES 5** ~ 1
AL [EERHAS 5* ~ 4 {7 [H]

ELHVAS Lvs RSS!

OKW.HO - (54 2020) REEEHE > BEAREEAR | 16

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



HISTORY NG T

BT SR 2018

HH T F5 WEZEBAIAHH KW, —BfA{% M regular course o [R5 A B B2 L
RSN ZHFHLEL - NN T T 380E DSE B S-Sl [E BRI - BT LAE TR
EEREE A BE AR T2k o ATL KW BERE EAIFA B —BF4A regular BERE(Z
SEFREENA A 25 H SBR[ table » SN HERREEDR S
BEEL AT - A — {5 B 7 = [E] B

i B - B % KW s R IE[S] DBQ ~ ESSAY [H] past paper » S IENE [H &
BIFREEA(— SRR~ WRAL......) » R Ryl & & 5 (5] s e AH HE R RE B P A
FBERANE - SFE History TERHF U B Felak @ - Frll B C#Eb & A=
R EATEERE B AR e iR A AR - E 2 RIS B #E
TEELR  FH ORI E EERY -

W2 H R E LB E A #E20 o 2 1% all in one super course (4%

intensive BEERAE - PR/E L5 KW S 2447 2 2 5h  FE 2 HHEE A quiz
AR - EMH G chur 7247 % - (HIEE(RHERGER GFE.O0 L THEE
EFEFERUE B CH-— SR AR - P HAEIA > FEEE catch- up 15
PRy - i HAFESFR BT TER KW & {E HIEE comment [F]7ER - FH AL
st RIE H AR FECE LG EfRE CIEE g R FTilE
(G 7 EB O R R R s S TR AT (A S 220, -

study leave fiz {&iRIMERHRF (B2 L BB B4 B0 » IRy — ELBR 3 KW I3RS ER0C
SREFREHCAE —EEE Pl E CE G kAR % —EEFFE g ek
Pk essay > JREREFEL N — B HKIUME DBQ > E1EIR DSE HIEHHAMEEEE > [F]H
FH Ol E BRI A - SRR E KW FTA#/[E resources !
AR AR BRI RERORE & 20 B E2 i HEEZ
H > BIANEE SRR ~ ZERF 2SR ~ count AFHFEIMELF ERGIOA ~ 8wy
H C IR MIERIEERR - U 50 2 ] DU A5 FEINTRIE)2E DSE ST E 47 - I !

OKW.HO — (33542 2020) RGN - BEARERAR |

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



& g = &

HISTORY NG T "4
AW N2
FHE#7E ¢ FEsE History — E
EAl4H Paper 1 Paper 2
B4 101 102 103 104 203 204
SrEEEAGS 14 M1 6 M1 9 M1 12 M1 23 M1 22 M1
(out of 15) (out of 15) (out of 15) | (out of 15) (out of 25) (out of 25)
VAR- 5k e 14 6 9 12 23 22
Sy ERERERL 13
ek g 48 45
BTG 48 45
EHHEROR 114 78
RERGS - 192 (out of 230)
R EE - 5**
FESE 1
EARE SRR P4 HHE b d=ar 4 M1
1 101 Q1(a) 4 4
Q1(b) 3 2
Q1(c) 8 8
2 102 Q2(a) 3 2
Q2(b) 4 4
3 103 Q3(a) 3 2
Q3(b) 4 3
Q3(c) 8 4
4 104 Q4(a) 4 3
Q4(b) 3 2
Q4(c) 8 7
FES4 2
EARE SRR P4 HHE EAAR M1
3 203 Q3 25 23
4 204 Q4 25 22
OKW.HO - (£ 2020) R BRARERAE | 15

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



KWH®

HISTORXN G T a T

2020 DBQ Question 1: Hong Kong

Marks : 14/15

1a) Infer two characteristics of Hong Kong’s political system.(4marks)

BT BBUAHIERYMTEREL - (4 97)

The first characteristic of Hong Kong' s political system in 1951 is governor-dominated.
In Source A, all the official members and unofficial members are governor appointed,
showing that the political system, in terms of the Legislative council, is governor-
dominated. Also, in Source A, the president of the Legislative Council is the governor.
Therefore, this shows how the political system is headed, led and dominated by the
governor.

The second chracteristic of Hong Kong political system in 1951 is the lack of Chinese
participation. In Source A, almost all official members of the Legislative Council were
not ethic Chinese with only Yeo Kok Cheang being the only one. Also, in terms of
unofficial members, 5/9 are not ethnic Chinese. This shows that foreigners dominated
the majority of the Legislative Council, showing the low and lack of Chinese
participation in Hong Kong' s political system in 1951.
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1b) Identify and explain one administrative problem with reference to the first

paragraph. (3 marks)
SELF—E > B —ETBRE - (347)

The administrative problem that the Hong Kong government faced in the early 1950s
was the communication barrier with local Chinese.

In Source B, it is stated that “the police had been pressuring the government to
appoint a bilingual Chinese Crown Council to facilitate a better understanding and
working relationship with the Legal Department” . It is because of the problem of
communication barrier between government and local Chinese obstructing proper
understanding towards each other, which triggered the action of the police, showing

the administrative problem of communication barrier.

In Source B, it is also stated how the workload of police officers was increased by

“briefing non-Chinese speaking members of the Legal Department.” This further
illustrated the problem of communication barriers, that because of such, the workload
of the department increased, showing communication barriers as the administrative
problem.
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1c) Do you agree that Hong Kong had become better in terms of democracy and

racial equality from 1951 until 1997.[S+K] (8 marks)
REEFER 1951-1997 4F » TR TEAEREEEHLE ? [S+KI(8 77)

Yes, | agree that from 1951 until the end of colonial rule in 1997, Hong Kong had

become better with respect to democracy and racial equality.

In terms of democracy, before in the 1950s, there was a low degree of democracy in
Hong Kong. In Source A, it shows that all official members and unofficial members of
the Legislative Council in 1951 were appointed by the governor. This shows how there

was a low degree of democracy with dominance and superior power of the governor.

Also, before the 1950s, the degree of democracy was low. In Source A, the governor
was the president of the Legislative Council, which further illustrated the low degree

of democracy due to absolute power of the governor.

In Source B, it stated I was requested to hold up my resignation, and was convinced
that the governor would intervene and grant me expatriate terms” . When officials
wanted to resign, the decision making power of the governor was dominating,

showing low degree of democracy.

Yet, after that heading towards 1997, the democracy degree was greatly heightened.
From my own knowledge, in 1982, the District Council had its first election and the
voting age lowered from 21 to 18, which added an electoral element in the political

system and increased the degree of democracy.

Also, from my own knowledge, 1995, the total 60 seats of the Legislative Council was
being elected, with all the appointed officials abolished, showing a better and higher

degree of democracy with election and public participation.

In terms of racial equality, before, there was inequality racially with dominance of
foreigners and low representativeness of Chinese. In Source A, it shows how the
majority of unofficial and officila members of the Legislative Council are not ethnic
Chinese, showing the dominance of foreigners and Chinese being the inferios one
racially.

Also, in Source B, it stated “Legal Department had been looking for a local barrister

who could speak as well as read and write Chinese to be the first Chinese Crown
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Counsel” , showing the lack of Chinese participation in the Legal system in Hong Kong

in the 1951 with racial, inquality and not being represented.

Also, in Source B, it is stated  “I was paid no more than a minimum flat salary without
any living quarter, housing allowance and long leave with pay” . This shows that racial
inequality happened that Chinese officials were being mistreated with less advantages

in work.

Yet, after that towards 1997, the racial quality became better. From my own knowledge,
in terms of Administrative officials in Hong Kong, 1980s have up to 91 AOs as Chinese,

such as Carrie Lam and Donald Tsang, showing racial equality in political participation.

Also, from my own knowledge, more Chinese are able to take up senior roles, such as
1993 Chan Fong On San being Chief Secretary and 1995 Donald Tsang being the Chief
Financial Secretary. This shows racial equality improved with better representativeness

of Chinese'in society.
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2020 DBQ Question 2: Japan&China

|Marks 1 6/7

2a) Conclude one problem that hindered China’s modernization efforts. (3 marks)

R T B EES IR — (BRI - (3 7)

The problem hindering modernisation efforts in Chinese was the lack of law and

politics education in China.

In Source C, it stated that  “Students sent to Japan mostly study military science and
education, but rarely study law and politics.”  but law and politics are the

“essemtials subjects to study if China is to reform” . This shows that the emphasis is
shifted away from law and politics education. Without law and politics education, no
relevant knowledge and talent can be bred for Chinese - modernisation and reform,

showing it as the problem.

2b) How successful were the revolutionaries in overthrowing the Qing

government? (4 marks)

EanEAEHREIABE—E LA 2RI ? (4 57)

To a large extent were the revolutionaries in overthrowing the QIng government

successful.

In Source D, it stated  “our army has so far failed to launch 3 Northern expedition” ,
showing that to a small extent it is not successful as the northern expedition is not

totally completed and cannot totally overthrow the Qing regime.

Yet, to a large extent it is successful. In Source D, it stated that “China’ s
southeastern part has largely settled down, with cities of fourteen provinces flying the
revolutionary army’ s now flag and people are happy " . This shows the

revolutionaries were successful largely to settle a larger scope of territory in China.

Also, it is successfil. In Source D, it stated “we have recently formed a new

government of the Republic of China,” showing that politically revolutionaries were
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successful in overthrowing the old Qing regime and taking grasp of power to set up a

new one.

Therefore, despite some unfinished task, to a large extent were the revolutionaries

successful.
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2020 DBQ Question 3: International economic cooperation

‘Marks : 9/15

3a) How did the cartoon provoke fear towards Germany? (3 marks)

BE PR FEEHIRME ? (3 )

The cartoon provoked fear towards Germany by the threat of potential revival of

Nazism.

In Source E, the goose representing France is bearing eggs of steel, which are helmets
onto the territory of Germany across the border. As the helmet symbolised
Schutzstaffel, the special police force in Nazi Germany, the fear towards Germany is

provoked towards the potential revival and threat of Nazism by Germany.

Also, fear is provoked towards Germany as in Source E, the man representing Western
Germany is patting the goose and looking forward to the birth of helmets, which shows
Germany was encouraging the breeding of Nazism, provoking fear of the world

towards Germany by the threat of Nazism.

3b) Is Source F meant to support or oppose Britain’s entry into the EEC?(4 marks)

SIFMIRGER » BRSCRAE R SCHTERII ABUHEEIL AR ? (4 57)

Source F is meant to support Britain’ s entry into the EEC.

Firstly, in Source F, it is stated that “Entry into the European Community would not
of course affect the position of Monarchy” ', which comfort and reassure Britain that
the individual sovereignty of Britain would not be diminished after the entry, which
supports Britain’ s entry into the EEC.

Secondly, in Source F, it stated that “it is not in practice possible to force another
member state to act contrary to its vital national interests” . This is to reassure Britain
that the entry to EEC would not violate Britain’ s national interest, aiming to easen
the Britain’ s worry and support her entry.
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3c) IRETEEBNIE 1945-2000 FEEJHKBHKEEEATHE ? (8 47)

Do you agree that European economic integration was irresistible in the period
1945-20007? (8 marks)

Yes, European economic integration was irrresistible in the période 1945-2000.

In Source E, it shows the threat of Germany as the Nazi Germany helmet was born and
produced on the Germany territory by France through ECSC. This shows that by
provoking fear towards Germany, countries would urge for European economic

integration to resist the potential revival of Nazism and strengthen their own power.

In Source E, it also shows how France goose crossed the border with a creepy and
suspicious smile. This shows how France, in the name of counteractting to the
potential expand of Nazi Germany, make countries to integrate economically against

Germany, making European economic integration irresistible with the push of France.

In Source F, it also stated “Entry into the European Community would not of course
affect the position of Monarchy” . This easen the worry of states who are concerned
about national sovereignty and encourages them to join integration, especially for

Britain, which makes economic integration irresistible.

In Source F, it also stated how  “it is not in practice possible to force another member
state to act contrary to its vital national interest” , which aimed to easen the Britain’

s worry towards the loss of national interests. As countries, especially Britain, were
reassured of the preservation of national interest, economic integration would be
irresistible.

From my own knowledge, the entry of Britain is essential to make economic
integration irresistible, for instance, Britain set up EFTA to counterbalance ECSC. Yet,
while ECSC by the Outer Six are significant with 58% growth of production, Britain

urged to integrate and make economic integration irresistible.

Also, the previous success encouraged integration. From my own knowledge, 1948
Benelux Union was a success, encouraging European countries to follow suit and start

integration economically, making it irresistible.

From my own knowledge, the dissolution of the USSR also contributed. In the 1990s,
the dissolution of the USSR led to the fall of Warsaw Pact and COMECON, which urged
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Eastern European countries to seek economic assistance and join the EC. Therefire,

economic integration was expanded and made irresistible.
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2020 DBQ Question 4: World War |

Marks : 12/15

4a) Conclude two types of peacekeeping efforts. (4 marks)

B AR AERF RISV 7(4 )

The first type of peacekeeping effort is in terms of international committees and

organisations.

For instance, in Source G, there was the founding of the Inter-Parliamentary Union
which formed the French Peace Society, Permanent International Peace Bureau and
the Lombard League of Peace, which were committees and international organisations

set up to uphold peacekeeping effort internationally.
The second type of peacekeeping effort is in terms of individual effort.
In Source G, the president of the USA won the Nobel Peace Prize by negotiating peace

in the Russo-Japanese War in 1904-5, showing that individual effort was essential in

peacekeeping in the period.

Mark: 3/4

4b) What was the cartoonist’s view towards the prospect of peace? (3 marks)

BERIRITARSH EEE ? 3 4)

The cartoonist thinks that the prospect of peace can only be achieved through

diplomatic measures of the country.

In Source H, Sir Edward Grey said to “Peace” inthe “language of diplomacy” ,
tosay “Wake up Miss, if you please” , showing that Britain tended to wake up peace,

in other words, achieve peace, through diplomacy, which is diplomatic measures.

Mark: 2/3
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4c) Do you agree that the trend of peacekeeping was stronger than that of
military rivalry in the period 1900-14? [S+K](8 marks)

R Fy 1900-14 £ER] - ERFRISPHTBISLE RIRE S HHIHIESIE R ? [S+KI(8
)

Yes, | agree that peacekeeping was a stronger trend than military rivalry in the period
1900-14.

In terms of peacekeeping, in Source G, there were lots of international committees
and bodies set up for the effort of peacekeeping. For instance, the Permanent
International Peace Bureau and the Inter-Parliamentary Union, which promoted the

effort of peacekeeping in the period of time promtly.

Also, Source G shows how peacekeeping effort was widespread and upholded by many
countries, including France, UK and Austria Hungary which were the Allied Power and

the Central Power respectively, showing the wide coverage of peacekeeping as a trend.

Also, in Source H, peacekeeping was promoted as Sir Edward Grey tended to wake up
“peace” in the language of “diplomacy” , showing that Britain, as one of the

major powers at that time, also promoted peacekeeping through diplomacy, showing

it as a stronger trend.

Yet, there is some military rivalry in the period. For instance, from my own knowledge,

the two Moroccan Crisis broke out as colonial rivalries and intensified the relationship

between Germany and France.

Yet, in comparison, peacekeeping was stronger than military rivalry. For instance, after
the Moroccan Crisis, peace conferences such as the Hague Conference were held for

peacekeeping to show a stronger trend.

There are also colonial rivalries in my own knowledge in terms of the Balkans War,
which leads Europe to the brink of war by the 1st Balkan War between the Balkans

League and the 2nd between Bulgaria and Serbia.
Yet, in comparison, peacekeeping was stronger as there are conferences set up, such
as the Algeciras Conference and Hague Conference for settling disputes in my own

knowledge.

Also, from my own knowledge, the alliance system achieved deterrent effort to hold
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back allies to maintain peace and prevent war, such as how France and Britain held

back Russia in the Balkans War to not to support Serbia.
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2020 Essay Question 3: Japan

Mark: 23/25

Do you agree that the USA facilitated more than hindered Japan’s development?

Explain your view with reference to Japan’s development in the period 1945-
2000.
R EFEEEERE S Uk H AHVERE ? 525 1945-2000 FEHH A
& RRIRHYEL -

After the Second World War, Japan entered a period of being ruled under the US SCAP
government. In terms of political, economic and diplomatic development of Japan, the
USA facilitated more than hindered Japan’s development. The following will prove that

the statement is agreed.

Firstly, in terms of political aspect, the USA facilitated the political development of
Japan. Under SCAP rule, the US shifted the focus of Japan from military towards
democratisation, in which 6000 soldiers were brought to be sentenced in the war
triburial to suppress militarism in Japan. Also, up to 200 million people who supported
militarism were brought under arrested or sentenced. This suppressed the spread of
militarism in Japan and facilitated the political development of Japan. What’s more,
the Mutual Security Pact was established by the US, that the military expenditure of
Japan would only account for 1% of the GDP while the others would be supported by
the US. Also, the self-defensive army would cut greatly in size, which was to reduce the
military importance and prevent the military rule in Japan again. Through the shift of
political focus from militarism to develop different aspects of lives in Japan. The US

facilitated democratisation of political development in Japan.

In contrast, the USA hindered Japan’s political development. For instance, the SCAP
rule of Japan had greatly violated the national sovereignty of Japan, that Japan was
being bound as a political tool of the US to strengthen the capitalist influence. For
instance, as CCP in China established the communist regime in 1949, the US intended
to utilise Japan as a capitalist force to counterbalance and contain the spread of
communism in Southeast Asia. Therefore, Japan became a political tool of the US,

looding its own autonomy and sovereignty.

Yet, in comparison, the USA facilitated more than hindered Japan’s political

development. In terms of limitation, the USA rule did not sustain for long, that in the
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1950s Japan was already able to regain its own autonomy and sovereignty. Yet, in
terms of fundamentality, the USA has launched an important foundation towards the
democratic political development of Japan. For instance, Japan had introduced more
electoral elements to the political system. Military rule was also abolished. Therefore,

the USA facilitated more than hindered Japan’s political development.

Secondly, in terms of economic aspect, the USA did a lot to facilitate economic
development of Japan after WWII. For instance, the Nine Principle of Economic
Stablisation was introduced for Japan’s economic recovery. Also, the fair trade
commission and the anti-monopoly policy were launched to eradicate the corruption
and monopolisation in Japan in order to create a favourable, safe and sound economic
environment in Japan to facilitate trade and business. Also, the Land Reform Act was
introduced to resell land to tenants to free from the domination of landlords. Up to
80% of land were redistributed to local Japanese tenants to facilitate their trading and
business as well as boosting production in order to facilitate economic growth and

development.

In contrast, economic development was somehow hindered by the USA. For instance,
in the 1980s, Japan was successful to reverse the trade deficit with the USA and gain a
surplus of 590 million dollars, showing the massive boom of Japanese economy. This
aroused the fear of the US, that the US decided to launch a 100% punitive tariff to
suppress the economic boom in Japan. Also, the Nixon shock also led to financial
bubbles and economic risks in Japan. For instance, US president Nixon cancelled the
direct transfirm of gold to dollar, as wel as tighten the financial expansionary and fiscal
policy, which led to hyperinflation in Japan and wreck the economic development of

Japan, hindering Japanese economic development.

Yet, in comparison, the USA facilitated more than hindered Japan’s economic
development. In terms of fundamentality, the Nine Principles of Economic Stablisation
provided a strong foundtion for Japan’s economic recovery after the WWII. Also, in
terms of fundamentality, it was the USA which chose Japan to be the place to supply
military munitions in Korean War and Vietnam War, and the US created procurement
to boost industrial production of Japan with a growth of 58%. Therefore, the USA

facilitated more than hindered the economic development of Japan.

Thirdly, in terms of diplomatic aspect, the USA facilitated diplomatic strength and
status of Japn after WWII. For instance, the USA urged the signing of the Treaty of San

Francisco of Japan with other Southern Asian countries such as Burma and Vietnam,
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allowing Japan to repay war reparation in kinds and labours. This not only lifted the
economic recovery of Japan, but also helped improve the diplomatic relationship of
Japan with Asian countries. With the aid of the USA, Japan received the strongest Asian
power after WWII, which also became the economic assistance provider. For instance,
$470 milliom was provided to China, making Japan the biggest aid provider and also
strengthening the diplomatic status of Japan. Apart from diplomacy with Asian
countries, as the USA was the leader of capitalist bloc, Japan was able to tighten her
relationship with capitalist countries, such as the signing of Australian-Japanese Treaty
of friendliness, showing the multiple and higher status of diplomatic development of
Japan facilitated by the USA.

In contrast, the USA hindereddiplomatic development of Japan at some point. For
insance, Japan was under the rule of the SCAP government of the US, who was the
leader of capitalist blic. Therefore, Japan was doomed to follow the Ping Pong
Diplomacy carried out by the US. Also, the diplomatic relationship of Japan with
communist countries deteriorated as the US was under confrontation with the
communist bloc after WWII. Therefore, Japan’s diplomatic development was limited

and monolateral, which was hindered by the USA.

Yet, in comparison, the USA facilitated more than hindered diplomatic development
of Japan. In terms of extent, the aid of the USA allowed Japan to reach the
international stage with a higher diplomatic status amid other countries. For instance,
Japan was welcomed to join the World Bank and IMF, which are international
organisations. This testifies Japan as a world-recognised power under the aid of the
USA. Also, Japan was able to establish the ASEAN to strengthen her power among
Asian countries, which was also the effort of the USA which allowed Japan to gain an
edge in world diplomacy for a long term. Therefore, the USA facilitated more than

hindered Japan’s diplomatic development.

All in all, despite the drawbacks of USA rule, the SCAP period and assiatance of the US
had determined and facilitated Japan’s political, economic and diplomatic

development. Therefore, | agree.

Words: 1092
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2020 Essay Question 4: World War II

Mark: 22/25

To what extent did the Paris Peace Settlement (1919-23) cause the Second World
War? Explain your answer with reference to European history in the period 1919-
39.

EEENI(1919-23) (£ (2 2L 155 L FURBR ARS8 ¥ 502+ 1919-39
VBN S - SEREIRAVE L -

The Paris Peace Settlement was introduced in 1919-23 to settle the consequences of
WWI. Yet, loopholes and drawbacks were detrimental and headed towards WWII as a
result. Despite the fact that there are other factors like the Great Depresssion (1929),
the appeasement policy and the incooperative attitude of countries, yet, in terms of
settlement of Germany, Italy, nation states and failure of collective security make the

Seocnd World War to a large extent a consequnce of Paris Peace Settlement.

Firstly, the Paris Peace Settlement triggered the rise of German aggression. For
instance, in the Treaty of Versailles, Germany was believed to be the one to bear the
most responsibility of WW1. Therefore, harsh terms were launched on Germany. She
was to cut away to 100000 soldiers, cut 10% of population and territory, giving up all
the overseas colonies as well as the $330 billion of reparation. What’s more, Germany
had to bear the War Guilt Cause to bear the sole responsibility of causing WWI. Due
to the unfair, unbearable and unreasonable settlement, the Germantotalitarianism as
boosted. For instance, Nazism was supported widely due to Hitler’s urge to search for
“living space” and regain territory and loss in the Paris Peace Settlement. Therefore,
the discontent of Germany breeds in the Paris Peace Settlement was reviewed in the
invasion of Germant. For instance, Germany violated the Treaty of Versailles and
remilitarized Rhineland and re-introduce conscription in 1936 and 1935 respectively.
To regain her loss in the Paris Peace Settlement Germany invaded Czechosolovakia in
1939, and later Poland in 1939 to lead the world towards the Second World War. It was
because the harsh and unreasonable treaties in the Paris Peace Settlement trigger

totalitarianism, leading to WWII.

Secondly, Italian totalitarianism was triggered by the settlement. For instance, the
Treaty of St. Germain gave ltaly Tyrol and Istria. Yet, Italy failed to get the promised

land, Dalmatia and Fiume from the Allied Power. Italy felt humiliated in the Paris Peace
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Settlement and started totalitarian aggression. For instance, Italy bombarded Corfu
Island in the 1920s and got back Fiume from Yugoslavia in 1924. In 1936, Italy also
turned Albania into the protectorate of Italy. Under the totalitarian rule of Mussolini,
there was the Abyssinian Crisis in 1938 which bridged the world to the outbreak of
WWII. Therefore, it was again the unfair Paris Peace Settlement that led to the Second
World War.

Thirdly, in terms of nation states. In the Paris Peace Settlement, treaty of St. Germain
proposed “National Self-determination” which resulted in the formation of nation
states under independence, such as Poland and Czechoslovakia. Yet, the settlement
ignored the balance of power, which the newly formed nation states were weak and
incapable, easily fell under aggression in 1939, such as Poland and Czechoslovakia, and
led to the outbreak of WWII. Also, the terms towards nation states was unfair as
Germany was not included in it. Therefore, Germany in 1938 annexed Sudetenland to
get back territory which was of 3 million of German population, bridging to the

outbreak of WWII. Therefore, WWII is a consequence of the Paris Peace Settlement.

Moreover, in terms of collective security, the 14th Points were proposed in the Paris
Peace Settlement, which promoted the launch of the League of Nations as a
peacekeeping body. Yet, the Paris Peace Settlement of this measure failed to maintain
peace in the 1930s. For instance, the League lacked an independent army, while
economic sanction and moral condemnation were effortless. Therefore, the failure of
such paves the way to WWII. For instance, the League was unable to stop the
aggression of Germany and Italy as they withdrew in 1934 and 1936 respectively.
Therefore, the inability of the peacekeeping method in the Paris Peace Settlement led
to the outbreak of WWII.

On the other hand, the appeasement policy was believed to be another factor leading
to WWII. For instance, in the appeasement policy, Britain and France tend to pacify
countries and aggressions to prevent outbreak of war. For instance, in the Munich
Conference 1938, Britain and France pacified Germany by giving Sudetenland to her,
which boosted the aggressiveness of Germany and led to 1939 Germany invading
Poland, leading to the outbreak of WWII.

Yet, in terms of causality, it was Paris Peace Settlement that led to the proposal of an
appeasement policy. For instance, in the Paris Peace Settlement, harsh terms were
imposed on Germany and boosted her aggression under totalitarianism. Due to her

non-stoppable aggressiveness, the appeasement policy fell into a failure, showing how
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Paris Peace Settlement was the cause of such.

On the other hand, some may say that the Great Depression 1929 was a leading factor
to WWII. Under the Great Depression, countries had their economy wrecked seriously.
In Germany, there were 3 million of unemployment with closure of industries and
factories in Italy too. Due to the extremely poor economy resulted from the Great
Depression, totalitarianism was breeded and boosted in coutries, such as how German
Nazism gained support in search of “living spaces”, that foreign expansionsit policy was
supported, leading to aggression, such as 1938 Sudetenland annexation for Germany

to get back her territory.

Yet, in terms of causality, it was the arsh treaty of Versailles in Paris Peace Settlement
which wrecked German economy with $330 billion of reparation, directly boosting
totalitarianism. Also, the effect of the Great Depression was limited as it was
happening in 1929. Yet, the consequences of Paris Peace Settlement in terms of rise
of totalotarianism had already happened in 1920s, such as Mussolini of Italy
bombarded Corfu Island in 1926. Therefore, Paris PeaceSettlement was the ultimate
cause of WWII.

Also, some may say that incooperative attitude of countries led to WWII. For instance,
the US did not join the League of Nations and stayed in isolation policy, which lowers
the effort of peacekeeping. Also, USSR suspicion was aroused and signed the Non-
Agression Pact with Germany, which was believed to be encouraging German
aggression, leading to invasion of Poland in 1939 and the start of WWII.

Yet, in terms of causality, Paris Peace Settlement led to incooperative attitude. For
instance, knowing the harsh settlement, the US further wanted to be free from
European affairs to sustain its own power, so she stayed isolated. Also, it was becuse

of the Paris Peace Settement fail to secure USSR interest led to its suspicion.

All in all, despite other factors, to a large extent was WWII a consequence of the Paris

Peace Settlement.

Words: 1073
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2020 DBQ Question 1: Hong Kong

Marks : 12/15

1a) Infer two characteristics of Hong Kong’s political system.(4marks)

BT BBUAHIERYMTEREL - (4 97)

Firstly, the characteristic is low participation of ethnic Chinese. From Source A, it is
shown that the majority of the members of the Legislative Council, including the
president, the official members and the unofficial members are not “ethnic Chinese”,
except few exceptionals like Yeo Kok Chang, Chau Tsun-nin, Chau Sik-nin, Lo Man Wai
and Ngan Shing Kwan. This shows that the political system was made up mainly by

foreigners, that Chinese had low participation in the political system.

Secondly, another characteristic is that the political system was governor-led with
governor holding higher power. From Source A, it is shown that all the official and
unofficial members of the Legislative Council were appointed by the Governor with no
exception. This shows that the Governor has absolute power and completely
controlled the LegCo, showing that the political system was Governor led with the

highest power held by the governor.

1b) Identify and explain one administrative problem with reference to the first

paragraph. (3 marks)
SEE—E B —ETBRE - (377)

The administrative problem was the language barrier between Chinese-speaking and

non-Chinese speaking officials faced by the Hong Kong government.

From Source B, it mentions that there was “increasing the workload of police officials
briefing non-Chinese speaking members of the Legal Department’, which shows that
the language barrier between Chinese-speaking and non-Chinese speaking officials

increase the difficulty in communication, lowering the efficiency of government work.

From Source B, it mentions that the “Legal Department had been looking for a local

barrister who could speak as well as read Chinese” and the police urged the
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appointment of a “bilingual Chinese Crown Counsel”. This shows that the government

faced obstacles caused by the language barrier, and would need personnel that were

bilingual to facilitate government work, showing the language barrier problem.

1c) Do you agree that Hong Kong had become better in terms of democracy and

racial equality from 1951 until 1997.[S+K] (8 marks)
REEFER 1951-1997 4F » TR FENELREEEHLE ? [S+KI(8 77)

Yes, the claim is agreed.

Firstly, in terms of democracy, there was a lower level of democracy in 1951. From
Source A, it shows that all the official and unofficial members in the Legislative Council
were appointed by the governor, showing that the Governor had supremacy in control,

and there was low democracy even in the consultative body.

Yet, from my own knowledge, the democracy in the Legislative Council increased until
the end of colonial rule in 1997. For instance, in 1993, Chris Pattern confirmed that the
president of the LegCo was no longer the Governor, but elected among LegCo
members. In 1996, all the 120 seats were all elected for LegCo, showing a higher level

of democracy.

From my own knowledge, democracy at the end of colonial rule is better with regards
to suffrage. For instance, from 1982, the District Council held elections for all Hong
Kong residents 21 years old or above residing for more than 7 years to vote, which
later on extended the voting age to 18 years old, showing the rise of democracy at the

end of colonial rule.

Secondly, in terms of racial inequality, the situation was poor in 1951. From Source A,
it shows the majority of the LegCo members were not ethnic Chinese, showing that
the Chinese could not grant equal status as the foreigners in the administration and
could not participate in higher posts, with only one Chinese (Yeo Kok Chang) as official
members.

From Source B, it shows that the Chinese Civil Servant was discriminated against that
he was “paid no more than a minimum flat salary without any living quarters, having

allowance and long leave with pay” and “expatriates terms were not granted”, showing
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that in the field of workplace, the Chinese receive unequal treatment and were

discriminated against.

Yet, from my own knowledge, the racial equality became better until the end of
colonial rule. For instance, Chinese became the official language in 1974, showing that

Chinese, as the majority one, had more equal status with foreigners.

Also, from my own knowledge, in the 1990s, the LegCo members were majority of
ethnic Chinese with even more Chinese taking up higher posts as senior administrative
officers, such as Donald Tsang, Anson Chau, Carrie Lam, and the localisation of civil
servants reached 98.68% in 1990, showing that racial equality was better and Chinese

could have more stake in government administration.
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2020 DBQ Question 2: Japan&China

|Marks 1 6/7

2a) Conclude one problem that hindered China’s modernization efforts. (3 marks)

R T B EES IR — (BRI - (3 7)

The problem hindered modernisation efforts in China would be the lack of training for

law and politics personnel that hinder political reform.

From Source C, it mentions that students sent to Japan “rarely study law and politics”
which “are the essential subjects to study if China is to reform itself.” This shows that
there was a lack of breeding of the personnel for law and politics, that might hinder

the comprehensive political reforms to be carried out in China.

From Source C, it mentions that a “one-year course” would be provided for “law and
politics”. With the short period of time in training the law and politics personnel, the
effectiveness might be low, that the lack of well-trained law and politics personnel

hindered political reform.

2b) How successful were the revolutionaries in overthrowing the Qing

government? (4 marks)

EanEAEREIABE—E LA 2RI ? (4 57)

Firstly, the revolutionaries were successful in taking control over some territories.
From Source D, it is mentioned that “China’s southeastern part was largely settled
down; with fourteen provinces trying the revolutionary army’s flag.” This shows that

the revolutionaries succeeded in conquering territories of the southeastern part.

Secondly, the revolutionaries succeeded in establishing a new government. From
Source D, it mentions that the revolutionaries “have recently formed a new
government of the Republic of China”. This shows that the revolutionaries were
successful in overthrowing the Qing Monarchy and replaced it with a republican

government.
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Yet, the success was not complete as Yuan Shikai was not overthrown fully. It mentions
that revolutionaries would “tune off up to one month to see how peace negotiations
will go”, showing that the revolutionaries had not gained full control and needed to

wait a month for Yuan Shikai.
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2020 DBQ Question 3: International economic cooperation

‘Marks : 8/15

3a) How did the cartoon provoke fear towards Germany? (3 marks)

BE PR FEEHIRME ? (3 )

The cartoon provoked the fear towards Germany that Germany would be
strengthened in power as it participated in economic integration that posed a threat

to revival of German aggression.

From source E, it is shown that the Chancellor of West Germany and France seemed
to have been on the same side and never in cooperation that is across the border. The
higher position of Germany may apply the rise in power of Germany over France even.

III

From Source E, it shows that the “eggs of steel” from France became the helmet of

Nazi Germany. This implies that under the economic cooperation, the power of

IlI IlI

Germany would be strengthened with “coal” and “steel” production, and the

strengthened power of Germany might lead to the threat of revival of Nazi aggression.

3b) Is Source F meant to support or oppose Britain’s entry into the EEC?(4 marks)

SIFMIRGER » BRSCRAE R SCHTERII ABUHEEIL AR ? (4 57)

The Source F supported Britain’s entry to the EEC.

Firstly, it mentions that the “entry into the European Community would not of course
affect the position of Monarchy”. This shows that the document pacified the fear of
Britain in losing sovereignty when entering the EEC and measured the Prime Minister

that Britain’s monarchical rule can be maintained even with the entry.

Secondly, it mentions that “it is not in practice possible to force another member state
to act contrary to its vital national interest”. This shows that the document in Source F
tried to reassure that Britain could preserve national interests and held autonomy over

its own interest even entering the EEC, which supported Britain’s entry to EEC.
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3c) IRETEEBNIE 1945-2000 FEEJHKBHKEEEATHE ? (8 47)

Do you agree that European economic integration was irresistible in the period
1945-20007? (8 marks)

Yes, the claim is agreed.

From Source E, it shows that the ECSC could provide Germany with “eggs of steel”, that
facilitated the strengthening of its military power as implied by the “helmets”. This
shows that as Germany could receive its power with the economic integration with
France, that it could recover from the economic damage from the war to regain power,

it would inevitably join in the economic integration.

From Source F, it shows that the entry into EEC had “no question of growing up their
sovereinty” for the members, which shows that as the economic integration preserve
the sovereignty of countries and would not affect the rule of our country, the economic

integrationwould be favoured by countries.

From my own knowledge, the emergence of the Cold War made economic integration
irresistble. As the two superpowers provided financial aid plans respectively, namely
$13 billion Marshall Plan from US and Molotov Plan from USSR, it drove the capitalist
bloc and communist boc to form economic cooperation bodies respectively to
distribute the fund, namely OEEC and COMECON to facilitate aid plan.

From my own knowledge, the huge damage from WWII made economic integration
irresistable. As the war caused great halt to economic activities with damages of firms
and factories, that Britain and France had national capital reduced by % and % only,
they needed economic integration to boost the economy and deal with the

unemployment problem brought by returning soldiers.

From my own knowledge, the integration between Western and Eastern Europe was
irresistable with democratic movement of Eastern Europe. With the hyperinflation in
the USSR under the Gorbachev economic reform plans, the soviet satellites held
economic hardships and doubted the effectiveness of Soviet Union. Moreoever, under
democratic movements, they broke away from COMECON and joined the EC and

eventually became eligible members of European Union for economic recovery.

It was true that the integration was resistable. From Source E, it shows the fear towards

Germany on the integration increase her power. Yet, it was unavoidable that the
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growth of Germany also benefited other European countries’ recovery.

Yet, all in all, it is agreed that the integration was irresistable.
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2020 DBQ Question 4: World War |

Marks : 11/15

4a) Conclude two types of peacekeeping efforts. (4 marks)

B AR AERF RISV 7(4 )

Firstly, the holding of disarmament conferences was a peacekeeping means. From
source G, it mentioned that “Louis Remnant”, a significant contributor to the Hague
Conference and “Auguste Brevnant”, an active promoter of the Hague Conference
were given the Nobel Peace Prize. As the Hague Conference were disarmament
conferences which called upon all countries to meet and discuss on disarmament
terms and arbitrate conflicts, it shows that disarmament conferences held were a

peacekeeping means in the period.

Secondly, the founding of international organisations to promote peace and arbitrate
conflicts was another means. From Source G, it shows that the “Permanent
International Peace Bureau” was founded as an “organisation that coordinates and
diverts peace movements of different countries”. This shows that the founding of an
international peacekeeping organisation to deal with conflicts and maintain peace was

a means of peacekeeping in the period.

Mark: 4/4

4b) What was the cartoonist’s view towards the prospect of peace? (3 marks)

BERIRITARSH EEE ? 3 4)

The cartoonist thinks that peace is not likely to be attached and happen in the future.

From Source H, it shows that Edward Grey as Prince Charming is trying to wake peace
by saying “Wake up, Miss, if you please” by liberating her from evil spells but not
kissing her. This shows the incompetence and insincerity of the measure taken by

Britain to receive “peace” is not likely to be “waken”.

From Source H, it shows that the cartoon was published in 1912 Balkan Crisis. This
shows that the cartoonist would not be hopeful towards peace and the prospect of

peace would not be positive, that peace couldn’t be attained.

Mark: 1/3
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4c) Do you agree that the trend of peacekeeping was stronger than that of
military rivalry in the period 1900-14? [S+K](8 marks)

R Fy 1900-14 £ER] - ERFRISPHTBISLE RIRE S HHIHIESIE R ? [S+KI(8
)

No. The claim is disagreed.

It was true that there was peacekeeping in the period.

From Source G, it mentioned that there were the holding of disarmament conferences

like the “Hague Conference " to settle the issue on reducing armament held by

countries and to arbitrate conflicts so as to maintain peace.

From Source G, it mentions that there was a peacekeeping organisation like the PIPB
and the IPU, which were international peacekeeping organisations to coordinate and

direct peace movements of different countries as peacekeeping movements.

From my own knowledge, there was the Algeciras Conference after the First Moroccan

Crisis to stop the military confrontation of Germany and France in the land of Morocco.

Yet military rivalry was stronger. From Source H, it shows that under the 1912 Balkan
Crisis, Britain took a rather insincere approach to bring back peace, and the prospect
of peace was not optimistic, showing that the military conflict in the Balkans damaged

peace and made peacekeeping efforts useless.

From my own knowledge, in 1908, there was the BOsnian Crisis between Austria
Hungary and Serbia fighting for Bosnia Herzegovina, which the backing by alliances like

Germany almost broke the states to the brink of war.

In comparison, military rivalry was stronger than peacekeeping. From my own
knowledge, even though there was the Second Hague Conference to disarm, the naval
race of Britain and Germany started right after the conference in 1907 with Britain
launching the 2:1 naval policy on dreadnoughts race with Germany, showing that the

peacekeeping force was not able to stop military confrontation.

In comparison, from my own knowledge, after the First Balkan War in 1912, the
London Conference was held to abitrate and settle the interest between the Balkan
States. Yet, the conference failed and started off the 2nd Balkan War in 1913 with the
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discontent of Bulgaria on the rise. This shows that the peacekeeping was not as strong

as the military rivalry, that failed to stop military rivalry.

OKW.HO - (54 2020) REEEHE - BEAREEAR | o

Eiciie o @mnsey o HEIRFHISERESE - SREMHRIIHIE -



HISTORXN G T a T

2020 Essay Question 3: Japan

Mark: 21/25

Do you agree that the USA facilitated more than hindered Japan’s development?

Explain your view with reference to Japan’s development in the period 1945-
2000.
R EFEEEERE S Uk H AHVERE ? 525 1945-2000 FEHH A
& RRIRHYEL -
After the Second World War, the USA facilitated more than hindered Japan’s

development in the economic, diplomatic, education and military aspects. Hence, the

claim is agreed.

Firstly, in terms of economic development, the USA created a favourable economic
environment and provided Japan with special procurement. In terms of the economic
environment, the USA launched the Showa Constitution to disband the Japan army in
order to cut the military expenditure. The Anti-Monarchy Act and the Articles of
Association were launched to abolish the monopoly of Zaibatsus in the economy to let
the small and medium enterprise to operate. The Land Reform was also carried out
with 80% of farmland redistributed to the peasants to facilitate farming development.
In terms of the special procurement, USA used Japan as the base of military production
and consumption in the regional war, including KOrean War in 1950s and Viethnam War
in 1960s, which the military personnel and their family consumed and orfer military
munities from Japan. This led to the economic growth of Japan with the rise of the
foreign exchange services of 3 times since 1945, and the foreign export value also
increased by 5 times since the end of WWII in 1945. This shows that with the measures
taken to improve and stablise the economic environment and the special procurement,

Japan could have economic growth.

Yet, it may be argued that the USA hindered the economic development of Japan with
the punitive tariff in the 1950s. As Japan had increased trade with USA, in 1956, the
trade decifit og USA reached $590 million, and hthe gap continued to increase that
Japan because the greatest economic competitor with USA. Hence, the USA launched
the 100% punitive tariff on Japanese goods such as cars, coloured TV and semi-
contributors, which led to an economic loss of $10 billion by Japan, leading to harm of

economic growth.

In comparison, the USA facilitated more than hindered the economic development of
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Japan in terms of fundamentality. It was because the USA laid the solid foundation of
Japan's economy so that Japan would flourish. For instance, the Nine Principles of
Economic Reconstruction implemented by the US helped Japan to improve the
economic environment for gorwth. And also, it was because of the USA's choosing
Japan as the military base of wars in the 1960s as the military base of wars in the 1960s
that Japan could enjoy the special procurement. Even though the USA launched the
punitive tariff, the help by the USA done in the initial post-WWII period laid the

fundamental foundation for Japan’s economy.

Secondly, USA facilitated Japan’s di[lomattic developemnt. In 1952, the USA led Japan
to sign the Treaty of San Francisco under the supervision of the SCAP government. The
treaty laid out that Japan could return the war reparations and indemnity in the form
of goods or labour services with southeast Asian countries like Indonesia, Thailand and
Vietnam. This treaty signed under the assistance of the US allowed Japan to improve
the relationship with foreign countries as a remption of Japan’s war guilt, and allowed

Japan to establish better diplomatic friendly relationships with neighbouring states.

Yet, it may be argued that the USA hindered Japan’s diplomatic development. As the
USA chose Japan as the military base for the Korean War, Japan had no choice but to
form a rather hostile relationship with North Korea. Also, as the USA was the head of
the capitalist bloc in the Cold War period, and Japan was actually used by the USA as
a barrier to confront communist influence in Asia, Japan had poor diplomatic relations
with communist states like China. This shows that under shaow of USA, Japan had

hostility with some communist staes.

In comparisom, the USA facilitated more than hindered Japan’s diplomatic
developemtn. In terms of fundamentality, the USA laid down the foundation for
Japann to express friendliness to neighbouring states, that it was the USA who opened
the door to Japan through the Treaty of San Francisco, that effectively improved
Japan’s reputation and image in Asia-Pacific Rim. Also, it was the USA that led Japan to
further develop reputation with other states. For instance, on detente, Japan followed
USA’s “Ping Pong Diplomacy" with China to establish an official diplomatic relationship
with China in the 1970s. Later on, Japan could even join the OECD because Japan was
an ally of the USA This shows that the USA actually facilitated Japan to form diplomatic

ties that extended to the world stage.

Thirdly, the USA facilitated the military developemtn of JApan. As USA chose Japan as
the military base for the militaryproduction of Korean War and Vietnam War, US gave
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the opportunity of Japan to receive and further expand the development of the
military industries, producing advanceed wweapon like machine guns, warplanes etc,
which faciliated the blossom of military industry in Japan. Also, as the USA was the
leading military power, USA influxed mmilitary technologie to Japan, such as the
nuclear power, interception technology, leading to the advancement of military

development of apan.

Yet, it may be argued the USA hindered military development. For instace, in 1950s,
USA signed the Mutual Security Pact with Japan that reduced Japan military
expenditure to only 1% and cut the Slelf-Defence Zones as the US would station
American force and troops on Japan. Thisishowed that the USA prohibited Japan to
develop its own forc eand kept the self-defence Force in very small amounts only,

reducing military power.

In comparison, USA actually facilitated more than hindered the development in
military of Japan. lathough USA cut the Self-Defence Forces of Japan, Jaoan wa made
possible to increase the efficiency of Self-Defence Forces with better trainings, making
the 200 to 300 thousand Self-Defence Forces in Japan one of the most competitive and
powerful army in Asia. Also, in terms of causality, because USA had strong assistance
to Japan, Japan could have the extenive research in more advanced military
technologie to improve the quality of the army. It was done because of the USA's
special procurement arrangement that made Japan’s military industry flourish. Hence,

the USA was in fact facilitating Japan military development in the long term.

Moreover, the USA facilitated more than hindereed Japan’s education development.
The USA implemented the Basic Education Law and the School Education Law in the
1950s to launch the education principle of all-round education in Japan, and as a
leader who assised Japan to launch 9-year compulsory edication under SCAP
government. This education law allowed Japan to develop education and laid the
foundation for furher education developemetn. For instance, the education budget
increased by 24 times in the 1970s and 1 in 7 workers have a university degree. This
shows that the good and solid foundation laid by the US undioubtedly facillitated long

term education development of Japan.

All in all, in economic, diplomatic, military and education aspects, it is clear that the
USA facilitated more than hindered the development of Japan. Hence, the claim is
agreed.

Words: 1157

OKW.HO — (33542 2020) REEKNE - BEAREHRAR | o5

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



HISTORXN G T a T

2020 Essay Question 4: World War II

Mark: 19/25

To what extent did the Paris Peace Settlement (1919-23) cause the Second World
War? Explain your answer with reference to European history in the period 1919-
39

EEZRAN4T(1919-23)FF (TR B T 38 R FRRRRHYIR S ? 8% 1919-39
FERVEONEE S » BERRIRIVEIS -

To a large extent, the Second World War was a consequence of the Paris Peace
Settkement (1919-23) with regards to the settlements to Germany, Italy, the principle
of National Self-determination and the establishment of the League of Nations in the

Fourteen Points.

Firstly, the Treaty of Versailles to Germany paved the way for the outbreak of the
Second World War. In the Paris Peace Settlement, the Treaty of Versailles laid down
harsh terms as punishment to Germany including the War Guilt Clause, the war
reperation of $33 billion USD, the loss of 13% territory and loss of 12% population,
with the Germany army reduced to 10000 only. With these harsh terms accepted by
the Weimar Republic, it aroused dissatisfaction of the Germans due to the belief that
it was unfair for Germany to bear the war responsibility solely, and the punishment
was too harsh. Hence, as people desired stronger leader to make Germany powerful
and strong again, there was the rise of Nazi Hitler on 1933 who carried out aggressive
expansionist policies. For instance, Hitler remilitarized Germany in 1935 and
aggressively invaded the whole of Czechoslovakia in 1938 and launched a sudden
attack on Poland in 1939, which directly led to the outbreak of the Second World War.

Secondly, the Treaty of St Germain to Italy was a cause of the outbreak of WWII as well.
In the Paris Peace Settlement, the Treaty of St Germain only granted Italy Istria and
Tyrol, but failed to give Italy Dalmatia and Fiume as promised by the Allied pPower
before. Hence, Italy thought that it was a great humiliation and unfair treatment for
Allied Powers to betray Italy. This led to the ise of totalitarianism, that was Fascist
Mussolini in 1922 which adopted aggressive expansionist policy to regaomn national
glory. For instance, Italy started aggressive actions and invaded the whole of Albania
in 1939 after turning it into a protectorate in 1926. In 1939, Italy even joined Germany
to formt the Pact of Steel and formed the Berlin-Rome Axis with Germany as the axia
Power, which paved way for the outbreak of the WWII.
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Thidly, the Fourteen Points that laid out the establishment of the League of Nations
facilitated the outbreak of WWII. The establishemnt of the League proposed by US
President Wilson in the Fourteen Points was aiming to serve as a peacekeeping body
in the interwar period. With the Secretariat, Assembly, International Court of
Permanent Justice, the League aimed at using moral condemnation, economic
sanctions and military actions to abitrate the conflicts of countries, such as stopping
conflict between Poland and Germany on upper Silesia and forcing Yugoslavia to hand
over Fiume. Yet, the ineffectiveness of the League increased the ambition and the
aggression of totalitarian states. For instance, when Hitler rose in power and carried
out the remilitarisation and reconscription in1935, the League ignored the actions of
Hitler and did not respond to the acts. Hitler and Mussolini also led Germany and Italy
to quit the League of Nations at 1933 and 1937 respectively to further their
aggressions, showing how the League from the Paris Peace Settements aroused the
ambition of aggressors and failed to stop aggressions, leading to the Second World
War.

Fourthly, the principle of National Self-Determination laid out in the Fourteen Pointes
caused the outbreak of WWII. Under the national Self-Determination as a settlement
for the new nation states like Poland, Czechoslovakia, Latria and Lithuania. Theese
states would be independent from any rule and had their own sovereignty. Hence,
there were loopholes to theis principle as the nation states that were newly
establishedwere in fact too small and too weak, which fall-preyed to become the target
of aggressions. Also, Germany was not included under the principle of Nationl Self-
Determination, the it was seperated from Austria eith same Aryan Race for example.
Hence, Germany under the rule of Nazi Hitler strted aggressions under the principle of
National Self-Determination to gain back tits national interest and “unite the antion”.
For instance, Germany foformed a forced union “Anschuluss” with Austria in 1936, and
also annexed the Sudetenland in 1938 with the reason of gaining back the control of
the 3 million German-speaking population in sudetenland. This showe that the
loopholes of such principle accelerated the ambition of Germany, and later on,
Germnay even launched a sudden attack on Poland in 1939 as Poland was a weak
nationa state without power to resist, leading to the immediate outbreak of the
Second World War.

To a small extent, the other causes were also significant in causing WWII, but not as
important as the Paris Peace Settlement. In terms of the adoption of appeasement

policy by Briatin and France, it accelerated the war too. For instance, in the annexation
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of Sudetenland by Germany, Britain and France held the Munich Conference to agree
on granting Germany ' of Sudetenland, hoping to pacify the German ambition by
sacrificing the small nations. Yet, the appeasement policy accelerated the ambition of
Hitley that when it annexed the whole of Czechoslovakia, Britain and France did not
stop Germany. Yet, such a factor was less important bcause the appeasement policy
was a rather passive measure taken to respond to the aggression, but the aggressive
expansion of Hitlet which caused dissatisfaction towards the humiliating Treaty of

Versailled was truly the active catalyst to speed up the outbreak.

Also, the failure of collective security was a cause of the outbreak. In the interwar
period, there were the signing of treaties like the Locarno Treaty and Kellogg-Briand
Pact that aimed at preserving peace. Yet, as the Locarno Treaty only pulled down the
Western front of Germany, while the Kellogg-Briand Pact held the terms of “Legitimate
Self-Defence”, Germany started to expand to the eastern front. Germany and Italy also
used the “Legitimate Self-Defence” as the excuse for expansion. The failure of the
disarmament conference also sped up the outbreak of war. For instance, in the Geneva
conference, Germany quitted the conference as France forced Germany to disarm
while Germany refused. As a result, other countries also failed to disarm for fear of the
growing military strength of Germany. Yet, the failure of collective security was less
important than the Paris Peace Settlement, because it was the Treaty of Versailles that
limited Germany's army to 100000 only, which made Germany think that she had
disarmed enough. Thus, with the accelerated military strength and ambition, WWII

broke out as an unavoidable result.

The lack of cooperation with the USSR also led to war. For instance, in the Munich
Conference, Britain and France did not unite USSR, making USSR suspicious of them
“redirecting the peril to the east’ (ie Germany’s threat). Hence, USSR and Germany
signed the Nazi-Soviet Non-Aggression Pact to ease German fear of a two front war,
which inevitably boosted German ambition and broke the pact with the warplan of
“Babarossa” and invaded Poland and USSR.

All in all, to a small extent, there were other factors like appeasement policy, failure of
collective security and inadequate cooperation of states. Yet, to a large extent, the

Paris Peace Settlement was the cause of WWII.

Words: 1179
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2020 DBQ Question 1: Hong Kong

Marks : 14/15

1a) Infer two characteristics of Hong Kong’s political system.(4marks)

BT BBUAHIERYMTEREL - (4 97)

Firstly, there was low level of political participation of ethnic Chinese in the system.
From Source A, the official members were mostly non ethnic Chinese with only Yeo
Kok Cheang being Chinese, for unofficial members, there were only 4 out of 9 are
Chinese, showing there is low level of political participation of ethnic Chinese, most of

them were unable to work in political system.

Secondly, the Governor had the power to appoint all members and officials in the
system, being the head. From Source A, all official and unofficial members were
appointed by the Governor, Alexander Grantham, showing that the political system is
appointed by Governors for all its members and the Governor was the head of the

system.
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1b) Identify and explain one administrative problem with reference to the first

paragraph. (3 marks)
SELF—E > B —ETBRE - (347)

The problem is communication problem due to language barrier.

From Source B, ‘Legal Department looking for a local barrier who could speak as well
as read and write Chinese to be first Chinese Crown Counsel’, showing the government
lack officials who could communicate in Chinese so as to facilitate government

administration in Legal Department.

From Source B, ‘increasing workload of police officers briefing non-Chinese speaking
members of Legal Department,, showing communication problem due to language
barrier of Chinese and English speaking lead to difficulty in administration in Legal
Department.

From Source B, ‘appoint a Chinese crown counsel to facilitate a better understanding
and working, relationship with Legal Department,’ showing the communication
problem between Chinese and British led to difficulty in understanding and hinder the

work of Legal Department, regarding legal cases.
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1c) Do you agree that Hong Kong had become better in terms of democracy and

racial equality from 1951 until 1997.[S+K] (8 marks)
REEFER 1951-1997 4F » TR TEAEREEEHLE ? [S+KI(8 77)

Yes, | agree.

For democracy, from Source A, among the official members and unofficial members,
all are appointed by the Governor, showing that there was no electoral element in the
political system and HK people weren’t able to elect their representative, having a low

level of democracy.

From Source B, ‘looking for a local barrister, to be the first Chinese Crown counsel,’
showing that there was no Chinese working in the Legal Department and all the jobs
there were dominated by British, showing low Chinese political participation, not to

mention having democracy.

From my own knowledge, democratic element in HK increase, eg in 1968 the City
District Officer Scheme was launched and HK people can reflect their political opinion

to Clty District Officers, being involved in political affairs.

From my own knowledge, first election of District Council was held in 1982 and the
voting age was later lowered from 21 to 18, increasing and extending franchise and

democratic elements.

From my own knowledge, the first indirect election for Legislative Council was held in
1985 and in 1995, all 60 seats were elected, greatly proceeding to a representative

government with democracy elements, being better.

For racial equality, from Source A, among the official members, only Yeo Kok Cheang
was ethnic Chinese and for unofficial members, only 4 out of 9 were Chinese, showing
that Chinese were being excluded from political system and most duties are dominated

by British, racial inequality was serious.

From Source B,’l| was paid no more than a minimum flat salary without any living
quarters, housing allowance’ while ‘living quarters was one of the distinguishing
feature in employment of all expatriates’, showing that the British enjoyed privilege in
enjoying welfare for employment, yet Chinese were excluded from these welfare,

being discriminated against, having serious racial inequality.
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From my own knowledge, in early 1950s, HK Chinese were discriminated in ways, eg

they weren’t allowed to live in the Peak District.

From my own knowledge, there was localization of civil servant later, improving racial
equality, eg Anson Chan, Carrie Lam, John Tsang became Administrative Officers. Also,
Li Kwan Ha became first Chinese Commissioner of Police and Donald Tsang became
first Chinese Financial Secretary. Local Chinese could perform senior duties, showing

betterment in racial equality.

From my own knowledge, there were different social welfare for local Chinese, eg Ten
Year Housing Programme providing public housing for local Chinese. Also Public
Assistance Scheme helping Chinese living below poverty line, showing Chinese were

able to enjoy better social welfare in later period, having better racial equality.

Thus, | agree.
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2020 DBQ Question 2: Japan&China

Marks : 4/7 (M1)  5/7 (C)

2a) Conclude one problem that hindered China’s modernization efforts. (3 marks)

R T B EES IR — (BRI - (3 7)

The problem is the wrong emphasis on military science and education, neglecting

improvement in law and politics.

From Source C, ‘students sent to Japan mostly study military science and education,
but rarely study law and politics’, showing that China only emphasized on
improvement of military science and education, neglecting development and law and

politics’, this may hinder and limit the effectiveness of modernization.

From Source C, ‘law and politics are essential subjects to study if China is to reform
itself’, showing that China’s reform may not be effective due to the fact that it
neglected improvement and development in law and politics that were essential to

reform.

From Source C, ‘we must set up an accelerated school for law and politics, preferably
offer one-year course’, while normally ‘usually takes 3 to 4 years to complete’, showing
the course for law and politics are shorter than normal, so the immature development

of law and politics may hinder modernization efforts.

Mark: 1/3 (M1)
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2b) How successful were the revolutionaries in overthrowing the Qing

government? (4 marks)

FEay A ERREBE S EA SR ? (4 5)

To a large extent, it is successful.

From Source D, ‘we have recently formed a new government of Republic of China and
plan to notify various nations’, showing that they successfully set up a new Republican,

ending monarchy of Qing.

From Source D, in extract B, ‘Mitsui company will act to raise 2.5 million yen as a loan
to the Republican Government’, showing that the new Republican set up by
revolutionaries was able to get support and funds from Japan, increasing its strength

to withstand and overthrow the Qing.

From Source B, ‘with cities of fourteen provinces flying the revolutionary army’s new
flag’, showing that revolutionaries were able to overthrow the Qing and occupy a
number of provinces.

To a small extent, it wasn’t successful.

From Source D, ‘Qing government is heartless, burning and killing everywhere’, and ‘if
peace agreement can’t be reached, we have no choice but to resort to war’, showing
there was no agreement made between the revolutionaries and Qing government and
the Qing government hadn’t surrendered as they were still killing everywhere, so they
still hadn’t achieved full success.

All'in all, although the Qing government hadn’t backed down, they were able to set up
new Republican with Japan’s finding and support and that most province is occupied

by revolutionaries. Thus, to a large extent they were successful.

Mark: 3/4 (M1)
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2020 DBQ Question 3: International economic cooperation

‘Marks : 10/15

3a) How did the cartoon provoke fear towards Germany? (3 marks)

BE PR FEEHIRME ? (3 )

The cartoonist fear that France would be manipulated by West Germany and be

pressurized to produce and give steel for Germany.

From Source E, the man representing chancellor of West Germany was sitting on the
goose representing France, showing that the cartoonist fear Germany would control
France.

From Source E, the man sitting on the goose ordered the goose to pick between ‘coal’
and ‘steel’ on the land of France and the goose produce eggs of steel, landing on
Germany. Showing that the cartoonist fear that Germany would require France to give

large amount of steel to Germany, having great sacrifice of France.

3b) Is Source F meant to support or oppose Britain’s entry into the EEC?(4 marks)

SIFMIRGER » BRSCRAE R SCHTERII ABUHEEIL AR ? (4 57)

It is meant to support.

From Source F, ‘There is no question of any of these giving up their sovereignty will be
a community of sovereign states’, showing that Source F thought joining the EC won’t
harm Britain’s sovereignty and interest, her sovereignty could be preserved, so
supporting her entry to EEC.

From Source F, ‘it is not in practice possible to force another member state to act
contrary to its vital national interests’, showing that the Source thought Britain could
still resist and express opposition if the policy harms her national interests, she could

protect the national interests even after joining the EEC, so supporting Britain’s entry.
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Do you agree that European economic integration was irresistible in the period
1945-20007? (8 marks)

Yes, | agree.

From Source E, the man representing West Germany is sitting on the goose
representing France, telling it to have eggs of steel landing on German land, showing
that the economic cooperation between France and Germany is irresistible with
Germany sitting on the French goose. The goose had no choice but to produce eggs of

steel for Germany.

From Source E, the cartoon was published after treaty for forming ECSC was signed,
showing that there was European economic cooperation in terms of coal and steel
production, so the economic integration occurred in different aspects and also

industrial production, being irresistible.

From Source F, ‘entry into EC would not affect position of Monarchy’ and ‘community
will be a community of sovereign states’, showing that the ability to preserve national
sovereignty in the EEC prompted Britain to integrate with European states by joining
the EEC, showing that European economic integration is irresistible with national

interests of states protected, encouraging their integration.

From Source F, ‘it is not in practice possible to force another member states to act,
contrary to its vital national interests’, showing that members of EEC could still oppose
to policies not in favour to them and thus protect their own interests. Such act as an
incentive for countries to economically integrate, thus, European economic integration
was irresistible.

From my own knowledge, during the Cold War, there was confrontation between the
capitalist and communist bloc so as to withstand each others’ influence. The capitalist
bloc had OEEC to distribute Marshall Plan funds, while the communist bloc had
COMECON to enhance economic cooperation. The Cold War confrontation made

economic integration within East and West Europe irresistible.

From my own knowledge, Western Europe further integrate economically, eg setting
up a single market with the European Union Central Bank also the adoption of Euro,

this is to pursue further economic interests with an integrated market. The great
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increase in economic benefits made this integration irresistible.

From my own knowledge, the Schengen Agreement was signed to abolish border
checks so as to facilitate capital flow between the European countries, they can enjoy

greater trade market as a result, making the integration irresistible.

From my own knowledge, Cold War ended in 1991, there were no longer
confrontations between East and West, so some Eastern European countries were
granted waitlist membership of EU after the end of Cold War, making European

economic integration as a whole irresistible.

From my own knowledge, Inner Six adopt CAP to boost agricultural production, such

increase in production encouraged Britain to join in 1970s, making it irresistible.

Thus, | agree.
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2020 DBQ Question 4: World War |

Marks : 12/15

4a) Conclude two types of peacekeeping efforts. (4 marks)

B AR AERF RISV 7(4 )

Firstly, it was setting up League and international organisation for peace. From Source
G, Klas Arnoldson in 1908 was awarded as he found the Swedish Peace and Arbitration
League. Also, Elihu Root in 1912 was awarded for being president of the Carnegie
Endowment for International Peace. This shows that setting up League and
international organisations to gather collective effort to maintain peace is one type of

peacekeeping effort.

Secondly, it was launching peace movements. From Source G, PIPB was awarded in
1910 for being an organisation that coordinates and directs peace movement of
different countries, showing that one type of effort is launching and directing peace

movement in countries so as to arouse the public to maintain peace together.
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4b) What was the cartoonist’s view towards the prospect of peace? (3 marks)

BEFHNPHIRIRREEEL? 3 1)

He thought that prospects of peace was pessimistic and peace is not likely to be

revived.

From Source H, the sleeping beauty was ‘peace’, who falls into deep sleep due to a
curse cast upon her, showing that the cartoonist thought peace was cursed and fall
into deep sleep, showing he was pessimistic towards peace and thought that its

difficult to maintain peace and to revive it.

From Source H, ‘wake up miss, if you please’, showing that it was said in a desperate
and hopeless tone, showing the cartoonist thought it was difficult to maintain peace

and revive it.

From Source H, the cartoon was published when Balkan Crisis was still ongoing,
showing peace was destroyed at that time with crises broken out, so the cartoonist is

pessimistic towards prospect of peace and peace is not likely to be maintained.
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4c) Do you agree that the trend of peacekeeping was stronger than that of
military rivalry in the period 1900-14? [S+K](8 marks)

R Fy 1900-14 £ER] - ERFRISPHTBISLE RIRE S HHIHIESIE R ? [S+KI(8
)

No, | don’t agree, military rivalry is a stronger trend than peace keeping.

From Source H, the cartoon is published in 1912, when Balkan Crisis is still going on,

showing that the military rivalry destroy peace at that time.

From Source H, ‘peace’ was the sleeping beauty who was deep asleep ‘due to a curse’
and ‘wake up please miss’ showing that military rivalry completely destroy peace and

Britain was desperately hoping peace would come, but was hopeless and pessimistic.

From my own knowledge, the two Morrocan Crises between Germany and France was
a military rivalry, Germany even sent the gunboat Panther, hoping to get Morocco.
Even Algeciras Conference was called, it failed to stop the Second Moroccan Crises,

another military rivalry, from happening, paving way for WW1.

From my own knowledge, Britain and Germany engaged in naval arms race and Britain

respond Germany by a 2:1 dreadnought policy, military rivalry worsen their relation.

It is true that peacekeeping was also a trend.

From Source G, Roosevelt won the Nobel Price for Peace in 1906 for negotiating peace
in Russio-Japanese War. Also, Klas Arnoldson was founder of Swedish Peace and
Arbitration League showing that different peacekeeping efforts in terms of

international organisations was set up to have international collective efforts for peace.

From my own knowledge, there was the London Conference after Balkan War and also
the Hague Disarmament Conference to seek peace in terms of settling conflicts and

also disarmament. Peacekeeping efforts should not be neglected.

Upon comparison, military rivalry was a stronger trend. From my own knowledge, in
the two Hague Disarmament Conference, they ended up in failure as countries were
reluctant to disarm. This intensify arms race, eg Russia had conscription with 6 million
army, Germany and Britain continued their rivalry in navy, such warlike atmosphere

even paved the way for WW1 in 1914, so military rivalry was a stronger trend.
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Also, from my own knowledge, Britain and France signed the Anglo-French Naval
Agreement to provide military assistance to each other against Germany. In 1914,
Britain used German violation of Belgium neutrality as pretext to declare war on her.
Peacekeeping was ineffective to stop WW1 from happening obviously. WW1 broke out
due to military rivalry.

Thus, | don’t agree and military rivalry is a stronger trend.
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2020 Essay Question 4: World War II

Mark: 22/25

To what extent did the Paris Peace Settlement (1919-23) cause the Second World
War? Explain your answer with reference to European history in the period 1919-
39

EEZRAN4T(1919-23)FF (TR B T 38 R FRRRRHYIR S ? 8% 1919-39
FERVEONEE S » BERRIRIVEIS -

WW?2 broke out in 1939, which was another disastrous world war after WW1. To a
large extent WW2 was a consequence of Paris Peace Settlement, which will be
discussed in terms of causing German discontentment, Italian discontentment and the

setting up of small nation states.

Firstly, Paris Peace Settlement led to strong German discontentment, and the resulted
German aggressions lead to WW?2. In the Paris Peace Settlement, Germany was forced
to sign the Treaty of Versailles which was very harsh. In the Versailles Treaty, Germany
needed to pay war reparations of a huge amount of USD 33 billion, she also needed to
reduce her army to 10000 men. The most humiliating is that she was required to
accept the war-guilt clause, bearing full responsibility for causing WW1. This made the
Germans very angry and they blamed the Weimar Republic for not being able to
protect national interest. Hence, this gave rise to Hitler who advocated overthrowing
the Versailles Treaty and to regain national glory through foreign expansion. The rise
of Hitler in 1933 led to the foreign expansionist policy which destroyed peace. Firstly,
Hitler reintroduce conscription and remillitarize Rhineland, violating the Versailles
Treaty. Then, he annexed Austria, forming the Anschluss, overthrowing the Treaty. He
also invaded Sudetenland in 1938, and later Czechoslovakia in 1939. The German
invasion of Poland in 1937 directly led to the outbreak of WW?2, showing that great
German discontentment due to the Paris Peace Settlement led to the rise of Hiteler

whose aggressions to overthrow the treaty led to WW?2.

Secondly, the Paris Peace Settlement led to Italian discontentment, gradually causing
WW?2. Italy was promised to have territorial gain, eg Fiume and Dalmatia. Yet, she was
only granted Tyrol and Istria in the Paris Peace Settlement. This was a great national
humiliation and the Italians felt betrayed by the Allied Powers, they also blamed the
government for not being able to defend national interest. This led to rise of Mussolini

in 1922, who advocated in foreign expansionist policy to regain national glory. He
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bombarded Corfu in 1923 and also had forcible acquisition of Fiume. Also, he turned
Albania into an Italian protectorate. Later, he invaded Abyssinia twice in 1935 and
invaded Albania in 1939, showing that his aggressions greatly destroy peace and at the
same year, WW?2 broke out inevitably. The desire to gain national glory due to
humiliation to Italy in the Paris Peace Settlement led to WW2.

Thirdly, Paris Peace Settlement also led to set up of small nation states, which became
prey of aggressors, leadingto WW?2. In the Paris Peace Settlement, the US president
Wilson proposed the Fourteen Points including a new principle of ‘national self-
determination’, suggesting that places with same nationality should be allowed to
form an independent state. Yet, it is not unfair as the principle wasn’t applied to losing
nations, eg. Germany. Part of Germany was even ceded to Poland to form a new state.
Thus, several nation states were formed, eg. Czechoslovakia, Poland, etc, who were
weak and prone to invasions. Thus, they became the target and preys of aggressors.
For instance, Germany used ‘national self-determination’ as the pretext to invade
Sudetenland in 1938. Also, as the nation states were weak, they weren’t able to resist
invasions, eg Germany was able to acquire Czechoslovakia without any fight or blood
in 1939. The German invasion of Poland even directly sparked off WW2, showing the
small nation states created and the unfair principle set in Paris Peace Settlement led
to WW2.

To a small extent, WW2 wasn’t a consequence of Paris Peace Settlement as it was a

consequence of other factors.

Firstly, the Great Depression led to WW2. The Wall Street Crash in the US in 1929 led
to a severe damage to the US economy. It led to a chain effect to damage economy of
other countries as the US withdraw the Young Plan and Dawes Plan which provided
loans to other European countries for economic recovery after WW2. Thus, other
European nations were hit so badly, eg the unemployment in Germany reached 6
million with thousands of factories and firms closed down. Thus, this encouraged the
aggressions of totalitarian leaders, eg Hitler and Mussolini, who seeked ‘living space’
to revive the economy through aggressions. Their aggressions gradually led to WW2,
eg Italian invasion in Abyssinia in 1935, German invasion of Czechoslovakia and Poland,
leading to WW2. Yet, in terms of limitations, the rise of Mussolini took place in 1922,
before the occurrence of Great Depression in 1929, and his rise was due to the Paris
Peace Settlement which created national humiliation. Eventually, his aggressions
broke peace and caused WW?2. Also, it was Paris Peace Settlement which impose heavy

war reparations on Germany of USD 33 billion that made possible the chain effect of
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Great Depression as Germany needed to borrow US loans to support its weak economy.

Thus, to a large extent WW?2 was a consequence of Paris Peace Settlement.

Secondly, the appeasement policy also led to WW?2. Britain and France adopted the
appeasement policy in the face of aggressions. For instance, when Germany
remilitarize Rhineland, Britain and France turned a blind eye to it and this allow
Germany to increase in national strength for aggression. They also appeased her by
granting her Sudetenland in the Munich Conference in 1938, increasing her national
strength and ambition, and Germany invaded Poland in 1939, directly causing WW2.
Also, their appeasement to Italy in 1935 for ceding % of Abyssinia increase her national
strength and encouraged further aggression, eg Italy invaded Albania in 1939,
destroying peace and at the same year, WW?2 broke out. Yet, to a large extent WW2
was a consequence of Paris Peace Settlement. In terms of directness, Paris Peace
Settlement directly led to discontentment of Germany and Italy and their desire to
regain national glory through invasions, gradually they caused war. Yet, the
appeasement policy only indirectly caused war by increasing their national strength
and ambition. Its intention was to preserve peace and avoid war. Thus, to a large extent

WW?2 was a consequence of Paris Peace Settlement.
All'in all, although the Great Depression and appeasement policy also led to WW?2, to
a large extent WW2 was a consequence of Paris Peace Settlement as it triggered

German discontentment, Italian anger and also set up of small weak nation states.

Words: 1053
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2020 Essay Question 5: Cold War

Mark: 20/25

Assess the relative importance of ideological difference and national interest in

terms of shaping the development of the Cold War in the period 1946-91.

FLIEE 1946-91 ] AHHVRIRIN S » FHE RSP T REEABR A2 HHH
BEEM-

The Cold War broke out in 1946 after WW2, which was confrontation between the
capitalist and communist bloc. The relative importance of ideological difference and
national interests to development of Cold War will be discussed in the periods of
worsening and tense relation in 1946 to 1960s, the detente period in 1960s to 1970s,
and the improving relations with slight conflicts in 1970s to 1991 with Cold War
gradually ending.

Firstly, in the period of worse and tense relation in 1946 to 1960s, both ideological
difference and national interest contribute to it. For ideological difference, owing to
rapid communist expansion by Russia, eg it acquired satellites eg Romania, Bulgaria,
etc. The capitalist states, eg US, Britain were worried that it would spread to Western
Europe, who adopted capitalism, having democratic governments and free market
economies. This would harm their economies by reducing the trading partners as
communism adopts planned economy and also one-party dictatorship. Thus, there
were confrontation between the two blocs, eg the capitalist bloc with US as leader
have the Marshall Plan of USD 13 billion as aid, they set up OEEC to distribute aids so
as to maintain sphere of capital influence. The communist bloc with USSR as leader set
up the COMECON and also Molotov Plan to counterbalance the capitalist bloc, leading
to their worsened relation. For national interests, Germany was divided into 4 zones
with the US, France, Britain and USSR. As the US, France and Britain hoped to unify the
3 zones,this would harm USSR’s national interests as a strong unified Germany would
pose threat to USSR, so the USSR launched blockade of West Berlin to express
opposition. This led to the Berlin Crisis in 1948-1949, for fear that the USSR would
attack the, the capitalist bloc formed the NATO to provide military assistance and the
communist bloc formed the Warsaw Pact in response. Also, to compete for national
interests in terms of military superiority, US and USSR engaged in arms race. For
instance, the US used 2 atomic bombs in WW?2, so the USSR also tested atomic bombs
in 1949, Later, to protect national interest, the US invented the hydrogen bomb,

leading to their intense and worse relation in this period.
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Upon comparison, ideological difference was more important. In terms of
extensiveness, national interest only lead to arms race and also worsening relation of
US and USSR. Yet, it was the ideological difference that led to emergence of the
capitalist and communist bloc, defined by ideology. Ideological difference made
possible the confrontation of 2 opposing blocs in terms of economic, military, etc. In
terms of causality, it was ideological difference which would make national interests
harmed as eg, communist spread would reduce capitalist states’ trading partners and

economy. Thus, ideological difference is more important in this period.

Secondly, for the detente period with improving relation in the 1960s to 1970s, for the
ideological difference it led to several conflicts in the earlier period of 1960s. For
instance, to increase the strength of their own blocs, the USSR set up missile base in
Cuba to counterbalance the growing influence of capitalist bloc. This led to the Cuban
Missile Crisis in 1962, a nuclear war nearly broke out. Also, the USSR also sent troops
to Afghanistan hoping to spread communism, these worsen the relation between the
two blocs. For national interests, it greatly improved the relation of the 2 blocs, leading
to the detente period of the Cold War. For instance, the Cuban Missile Crisis led to a
nearly broke out nuclear war. As this would cause great harm and destruction by
nuclear war, to protect national interests, the USSR backed down and both the US and
USSR signed the Nuclear Test Ban Treaty to ban testing of nuclear weapons to protect
national interests by maintaining peace. The first hotline for direct communication
between the US and USSR was set up. Also, SALT talks were held to disarm and the
NPT was held which was signed by most countries on Earth to prevent spread of
nuclear weapons. This eased the tense relation and improve the relation during Cold
War due to the desire to protect national interest through disarm to reduce military

expenses and also preventing war to avoid destruction and casualties.

Upon comparison, national interests is more important to the detente period
development. In terms of timeliness, although the ideological difference caused
several conflicts, eg the Cuban Missile Crisis worsening the relation, this was only
minor and temporary as national interest drove the countries to resolve the conflicts
through disarmament and signing of treaties. For instance, the Helsinki Accords were
held in 1975 in which the members agreed to recognise each others’ sovereignty so as
to protect their own national interest, improving the general relation in Cold War

easing the tension, so national interest is more important than ideological difference.

Thirdly, for the period of improving relation with slight conflicts with Cold War
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gradually ending in 1970s to 1990s, for ideological difference, to increase the influence
of capitalist states in response to communist threat, the US and capitalist states
launched the SDI project to develop space technology with USSR as an imaginary
enemy. This provided another arms race in space between the 2 blocs, worsening their
relation. For national interest, as the USSR suffer from heavy financial burden due to
great military expenditure in arms race with communist bloc, to protect her national
interests and to safeguard her economy, the USSR gave up confrontation with capitalist
bloc due to ideological difference. Gorbachev actively improved the relation with US
and capitalist bloc, eg he arranged several state visits and meet with US president
Reagan and British Prime Minister Margaret Thatcher, so as to reduce military
expenses to safeguard her national interests. Gorbachev even adopted Glasnost and
policy of liberalisation to allow inflow of democratic and liberal ideas. This greatly
change the impression of Western states towards USSR and disarmament was carried,
eg INF between US and USSR. Finally, the loosen control over satellites so as to protect
the national interest of Russia led to the dissolution of USSR and also end of

confrontation with the West due to improved relation.

Upon comparison, national interest is more important than ideological difference in
this period. In terms of timeliness, although ideological difference led to arms race in
space in this period, eg the SDI of capitalist bloc, yet the worsened relation was only
temporary. In terms of causality, it was national interest that prompted Gorbachev to
improve relation with the West as the USSR suffer from a poor and contracting
economy due to excessive military expense. Thus, he actively improve the relation, eg
facilitating the CFE which was disarmament between NATO and Warsaw Pact members,
a comprehensive disarmament. Also, the Malta Summit was held in which Gorbachev
announced the Cold War would be dumped into the bottom of Meditarranean Sea and
announced the end of Cold War with US president. These were attempts to protect
national interest, to US, improving relation with USSR can reduce her military expenses
and develop her economy in other industries, to USSR, this can relieve her contracting
economy and stop recessions. National interests is thus more important which lead to
overall improvement in relation between two blocs and led to decline of conflicts due
to ideological difference, gradually leading to the end of Cold War when the USSR

dissolved and the Warsaw Pact dissolved.

All in all, the relative importance of ideological difference and national interest with

respect to development of Cold War in different periods are discussed above.

Words: 1257
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2020 DBQ Question 1: Hong Kong

Marks : 14/15

1a) Infer two characteristics of Hong Kong’s political system.(4marks)

BT BBUAHIERYMTEREL - (4 97)

The first characteristic was the low chinese participation in the political system. From
Source A, there were only 5 chinese members in the Legislative council of Hong Kong
in 1951, and all other members, 22 members to be exact, were foreigners. This showed
that the Legislative Council was dominated by foreigners and chinese participation was
low in 1951.

The second characteristic was the lack of democratic elements. From Source A, all the
members were “governor appointed” except the governor himself. This showed that
as all members in the Legco were appointed, no members were elected and
representative to the Hong Kong people, thus the lack of democratic element was a
characteristic.
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1b) Identify and explain one administrative problem with reference to the first

paragraph. (3 marks)
SELF—E > B —ETBRE - (347)

The problem was the difference in language.

From Source B, “In the past years, both the crime rate and the criminal trials had
steadily and alarmingly risen”, thus it “increasing the workload of police officers
briefing non-chinese speaking members of the legal department.” This showed that
there were a lot of expatriate officers in the legal Department and it led to the

difficulties in communication between the police and foreigners in the department.

From Source B, “the police had been pressuring the government to appoint a bilingual
chinese crown counsel to facilitate a better understanding, and working relationship
with the legal Department.” This implied that there were communication problems
between the police and legal department due to the difference in language, causing
administrative problems.
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1c) Do you agree that Hong Kong had become better in terms of democracy and

racial equality from 1951 until 1997.[S+K] (8 marks)
REEFER 1951-1997 4F » TR TEAEREEEHLE ? [S+KI(8 77)

| agree with the statement.

In terms of democracy, it became better.

From Source A, democracy was weak in the 1950s. All members of the Legislative
Council were “Governor appointed”. From Source A, democracy was weak in the 1950s.
All members of the Legislative council were “governor appointed”. This showed that
there were the lack of democratic element as all members of Legco were not

democratically elected, showing low degree of democracy.

From my own knowledge, the only government bodies that use election to select the
members was the urban council, however, there were still appointed members in the

council and showed a low degree of democracy.

It became better in the 1980s. From my own knowledge, the colonial government
carried out democratization in preparation of the return of Hong Kong to China. For
instance, the District Board was established and it contained elected members,
moreover, the Legco also introduced it’s first indirect election in 1985, showing an

increase in democratic element in Hong Kong.

In the 1990s, Hong Kong achieved high degree of democracy. From my own knowledge,
there were the first direct election of the Legco in 1991, and all 60 seats was elected
in 1995, showing that Hong Kong had achieved high degree of democracy, being much
better compared to the 1950s.

In terms of racial equality, it became better.

From Source A, racial equality was not achieved in the 1950s. There were only 5
chinese members in the Legislative council out of 27 members and others were all
foreigners. This showed that the chinese had low political participation in the 1951,
showing that the chinese was discriminated.

n

From Source B, “Patrick Yu Shuk-sin” “was advised that expatriate terms were not to

be granted” to him as “the flood gates would be open to similar representations from
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other local employees.” This showed that the chinese were discriminated in terms of
salary as government officials, as chinese were granted lower salaries than expatriate

officers, showing racial inequality.

Racial equality improved in the 1970s. From my own knowledge, chinese became one
of the official languages of Hong Kong in 1974, and more. Chinese civil servants were
absorbed to the government as administrative officers, such as Tsang Yum Kuen in
1971. This showed that there were the increase in status of chinese in Hong Kong,

improving racial equality.

Racial equality became even better in the 1990s. From my own knowledge, in order to
achieve a smooth transition into chinese rule, there were the introduction of chinese
secretaries. For instance Anson Chan became the first chinese financial secretary in
1995. This showed that status of chinese became high in the 1990s, achieving racial
equality.

OKW.HO — (33542 2020) REEKNE - BEAREHEAR | g9

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



KWH®

HISTORXN G T a T

2020 DBQ Question 2: Japan&China

|Marks - 4/7

2a) Conclude one problem that hindered China’s modernization efforts. (3 marks)

R T B EES IR — (BRI - (3 7)

The problem was the lack of time for studying laws and politics.

From Source C, “students sent to Japan mostly study military science and education,
but rarely study law and politics.” which “are the essential subjects to study if China is
to reform itself.” This showed that chinese generally lack awareness about laws and

politics, thus it may hinder modernization of China in political aspect.

However, from Source C, “it is almost impaossible for students to spend more than six
or seven years on such subjects.” This showed that there were not enough time for

chinese students to study laws and politics, hindering political reform of China.
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2b) How successful were the revolutionaries in overthrowing the Qing

government? (4 marks)

FEay A ERREBE S EA SR ? (4 5)

The revolutionaries were successful to a small extent.
There were some success.

From Source D, “we have recently formed a new government of the Republic of China.”
This showed that a new government was formed by the revolutionaries, showing some
success of the revolution.

However, there were failures.

From Source D, “our army has so far failed to launch a northern expedition”. and the
Qing government is “burning and killing everywhere”. This showed that the chinese
revolutionaries failed to continue military action against the Qing government and

could not save chinese people from slaughters, showing low effectiveness.

From Source D, “If eventually a peace agreement cannot be reached, we have no
choice but to settle matters by resorting to war.” This showed that the peace
agreement may not be achieved and war may need to continue, showing low
effectiveness of revolutionaries.
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2020 DBQ Question 3: International economic cooperation

Marks : 11/15

3a) How did the cartoon provoke fear towards Germany? (3 marks)

BE PR FEEHIRME ? (3 )

It provoke fear by referring the act of Germany as similar to Nazi Germany.

From Source E, Konrad Adenauer was depicted as using the goose Robert Schuman to
eat foods in “France” across the “border” and lay eggs of “SS” back in Germany. This
showed that the cartoon thought that Germany was using the excuse of economic
cooperation to increase steel production in Germany and exploit France, and those
steels may be use in military use just like what Nazi Germany done, provoking fear

towards Germany.

From Source E the caption is “The Goose with the eggs of steel” and the cartoon was
published after the signing of ECSC. This showed that the cartoonist thought that
Germany were using ECSC to improve her steel production, and it may be used for

military use, provoking fear.

3b) Is Source F meant to support or oppose Britain’s entry into the EEC?(4 marks)

SIRMIEGER » Bl SCRAE R SCHTERIIABUHEEIL AR ? (4 57)

It is meant to support Britain’s entry into EEC.

From Source F, “Entry into the European Community would not ofcourse affect the
position of Monarchy” and “The community will be a community of sovereign states.”
This showed that Source F was saying that Britain could still preserve the features of
monarchy and national sovereignty after the entry into EEC, supporting the entry.

From Source F, “the member states recognise that it is not in practise possible to force

another member state to act contrary to its vital national interests.” This showed that
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Source F was expressing the idea that entering EEC would not cause Britain’s national

interest to be affected by other countries’ decisions, supporting Britain’s entry.
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3c) IRETEEBNIE 1945-2000 FEEJHKBHKEEEATHE ? (8 47)

Do you agree that European economic integration was irresistible in the period
1945-20007? (8 marks)

To a large extent | agree with the statement.

From Source E, as the ECSC was formed, the goose Schuman was not stopped by the
“border” and could eat food in “France” and produce steel benefits in “Germany”. This
showed that European economic integration could broke the limit of national borders

without obstacles to carry out joint production, being irresistible.

From Source F, Britain was debating on the entry into the “European Economic
Community”. This showed that European economic integration attracted many

countries to participate in it, being irresistable.

From Source F, “The community will be a community of sovereign states.” This showed
that the European economic integration respects sovereignty of nations and was
irresistible.

From my own knowledge, the European economic integration undergo several
evolutions and yielded good results. For instance the European Community was
established in 1967 and the European Economic integration became more diverse, the
European Union was even set up in 1993, showing high degree of European economic

integration and it was irresistible

From my own knowledge, there were the signing of treaties and pacts that facilitate
economic integration. For instance, the Schengen agreement was signed in 1985 to
abolish border controls within the community, and the Single European Act was signed
in 1987, creating a common market in Europe, showing that economic integration was

evolving and irresistible.

Moreover, Eastern European economic integration was irresistible. From my own
knowledge, the USSR established a Council for Mutual Assistance in 1949 to facilitate
Eastern European economic integration. The USSR had strict control over the members
and use “coordinate economic plans” to carry out specialization due to the power of

USSR, economic integration in Eastern Europe was unstoppable.

However there were some obstacles.
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From Source F, “It is not in practise possible to force another member state to act
contrary toits vital national interests.” This showed that economic integration could

be hindered as every countries’ interest must be respected, being an obstacle.

From my own knowledge, there were the British opposition. For instance, Britain did
not sign the Schengen agreement and join the euro zone in 1999, posing an obstacle

to cooperation.

From my own knowledge, there were the division of East and West. For instance
Eastern European countries were forbade to join economic integration of western
european countries, such as EEC, splitting the two regions and hindered economic

integration.

In conclusion, although European economic integration faced obstacles such as USSR
and British uncooperative attitude, it developed fastly and was able to achieve good

results, thus it was irresistible to a large extent.

OKW.HO — (33542 2020) REEKNE - BEAREHEAR | o5

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



HISTORXN G T a T

2020 DBQ Question 4: World War |

‘Marks : 15/15

4a) Conclude two types of peacekeeping efforts. (4 marks)

B AR AERF RISV 7(4 )

The first type was international organizations. From Source G, there were the
“International Arbitration League”, the “Inter-parliamentary union” and thr
“Permanent International Peace Bureau”. This showed that nations use international

organizations as means for peacekeeping.

The second type was international conferences. From Source G, there were the “Hague
Conference” and the efforts to “negotiating peace in the Russo-Japanese war in 1904-
5”. This showed that international conferences and meetings were used as a type of
peacekeeping efforts to solve disputes.

Mark: 4/4

4b) What was the cartoonist’s view towards the prospect of peace? (3 marks)

BEFHAENATRH BB ? (3 5)

The cartoonist thought that the prospect of peace was bright.

From Source H, the caption is “prince charming and the sleeping Beauty” and the
prince was already there to wake up the beauty “peace”. This showed that peace

would quickly be achieved and the prospect of peace is bright.

From Source H, “Sir Edward Grey (to peace, adopting the language of diplomacy):
‘wake up, Miss, if you please,” and there were a pigeon representing peace in the
cartoon. This showed that Edward Grey was going to bring peace using diplomatic
means and the prospect of peace was bright.

Mark: 3/3
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4c) Do you agree that the trend of peacekeeping was stronger than that of
military rivalry in the period 1900-14? [S+K](8 marks)

R Fy 1900-14 £ER] - ERFRISPHTBISLE RIRE S HHIHIESIE R ? [S+KI(8
)

| disagree with the statement.

Indeed there were the trend of peace.

From Source G, there were the organizations such as the “permanent International
Peace Bureau”, the “International Arbitration League” and the “Austrian peace society”,
“German peace society”. This showed that there were the set up of numerous

peacekeeping organizations, showing that there were the trend of peace.

From Source H, peace was depicted as the “Sleeping Beauty” and Sir Edward Grey said
“wake up, Miss, if you please” using “language of diplomacy”. This showed that the
prospect of peace was bright and peace was going to come to Europe, showing the

trend of peace.

From my own knowledge, there were international conferences that solved crisis and
wars, For instance there were the Algeciras Conference in 1906 mediating the First
Moroccan Crisis, and the London Conference in 1913 solving the Balkan war. This

showed the trend of peace was going on.

However, military rivalry was stronger.

From my own knowledge, there were the naval rule between Britain and Germany. For
instance, when Germany challenged Britain’s naval supremacy, Britain responded with
the 2 to 1 naval policy and competed with Germany in building dreadnoughts,

intensifying the naval race, causing military rivalry.

From Source A, there were the “Balkan Crisis” which was “still going” in 1912. This

showed that there were tensions in the Balkans which cause military rivalries.

From my own knowledge, there were confrontation of alliance system. For instance,
there were the establishment of two military alliances, the Triple Alliance and Triple
Entente (1907), which created tensions between European powers, causing military

rivalries.
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In comparison, military rivalry was stronger. In terms of colonial rivalries, it is true that
the Algeciras Conference in 1906 settled the first Moroccan Crisis. Second Moroccan
Crisis broke out again in 1911, this showed that the trend of peacekeeping was weak
and could not prevent another crisis from happening.. Thus military rivalry was

stronger.

In comparison, military rivalry was stronger. In terms of the First World War, the first
world war broke out in 1914 under hostile relations between powers after the Sarajevo
incident (1914). This showed that peacekeeping could not stop the happening of a

world war and thus had a weaker trend than military rivalry.
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2020 Essay Question 2: China

Mark: 17/25
S R A NSRS RSP N A it 3 =9 bry = E N N

How far were the methods of economic development adopted in the Maoist

period different from those in the Deng Xiaoping era?

The Maoist period have a special economic development ,ethod, and it was quite
different from the post-Maoist period. It will be discussed in terms of production scale,
technology, ownership and outgoingness of the economy. The planned economy
nature was still the same. Thus the methods of economic development in the Maoist

period was different from those in the post-Mao period to a large extent.

It is true that they both use planned economy.

In terms of government commands, both in the maoist period and in the post mao
period did China use planned economy to facilitate economic development. In the
Maoist period, Mao Ze Dong centralized the authority and carry out economic
decisions from the planning of the central government. For instance, Mao introduced
the Five Year Plans as the major economic plans for China’s productions, this was learnt
from the Soviet model. Thus, the nature of China’s economy was planned economy.
For instance, in the first Five year plan, Mao ordered to develop China as a socialist
countries, and the whole nation followed Mao’s order, such as using brigades to carry
out production. As for the Great Leap Forward, Mao introduced the idea of “taking
grain as the key link”, and the whole nation build up “satellites farms” under the order
of Mao, showing that economic development of China was based on government
orders to carry out production. For instance, Deng use 'M’ on the Reform and Opening
up, meaning that the central government would use commands at macroeconomics
level to coordinate the economic development of China. Moreover, in the post Mao
period, China still followed the use of Five Year Plans as main economic plans,
preserving the nature of China using government decisions and orders to control
economic development. In comparison, both in the maoist and the post-maoist period
did China use government decisions to coordinate economic development. In terms of
Five Year Plan, it remained as a key characteristic of the post Maoist economy and still
serve the function of drafting and coordinating economic development for China’s

future. Thus the Maoist period and post- maoist period was similar in this aspect.

OKW.HO — (33542 2020) REEKHE - BEAREHRAR | o9

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



KWH®

HISTORX NGB BT

However, the methods of the two periods were different in other aspects.

In terms of scale of production, the maoist period emphasized using collectivization
and in the post mao period individual production was emphasized. In the Maoist
period, Mao Ze Dong emphasized the use of collectivization and carrying out large
scale cooperation. For instance, in the first Five year plans, Mao established
agricultural cooperatives and handicraft cooperatives, which contains many people in
order to carry out production, being an example of collectivization. Moreover, in the
Great Leap Forward, Mao launched the Nationwide Iron and Steel production
campaign which more than 90 million people joined in the campaigns, being another
example of collectivization. However, in the post-Mao period, the method was shifted
to individual production. For instance, Deng Xiao Ping introduced the household
contract responsibility system in 1978, allowing the peasants to work as individual
households to promote agricultural development, showing that individual production
became the major method in post Mao period. Moreover, decollectivization was
carried out in the post Maoist period as exemplified by the people’s commune being
abolished in 1984, showing the shift of focus into individual production. In comparison,
the post maoist period experienced a shift from collectivization to individual
production, and decollectivization was carried out under Deng’s governance. As a
result, production scale became much smaller in the post maoist period than in the

maoist period, being completely different methods.

In terms of ownership, maoist period emphasized public ownership and post maoist
period emphasized public ownership and post maoist period emphasized private
ownership, having different methods. In the maoist period, Mao practised public
ownership to enhance production efficiency. For instance, in the land reform (1950-
52), many farm land was liberated from the land lord and eventually nationalised.
Moreover, there were the process of merging civilian enterprises into national
enterprises in the First Five Year Plan. Moreover, in the Great Leap Forward, all
properties of people’s commune was publicly owned to allow better coordination,
showing that in the Maoist period China used public ownership to allow better
coordination, showing that in the Maoist period China used public ownership to
facilitate economic development. However in the post-maoist period, Deng started re-
privatising properties and focused on private ownership. For instance, Deng amended
laws regarding enterprises and allowed civilian private enterprises to be established in
China. Moreover, there were the introduction of Township Village enterprises which
allowed chinese people to work in those private enterprises. There were even the

introduction of stock market which allowed chinese people to buy and own shares of
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companies, such as in Shenzhen and Shanghai. In comparison, the maoist period
emphasized the use of public ownership to were considered and China shifted it’s
focus to allowing private ownership to improve working incentive of chinese people,

thus the two period had completely different methods in terms of ownership.

In terms of trading, in the maoist period, China followed a “self-reliant” model but in
the post maoist period, China was opened up to the world. In the maoist period, mao
wanted China to be “self reliant” and did not need to rely on other countries, thus Mao
introduced measures to promote the “self reliant model”. For instance, in the Great
Leap Forward, people’s commune were established and the workers in the people’s
commune were asked to eat what they grow, making the communes self reliant.
Moreover, Mao gave up trading with other countries after the UN embargo in 1950
and thus focused to develop China into a self reliant economy. However, in the post-
maoist period, Deng Xiao Ping opened up China to the world and promoted trade. For
instance, Deng set up special economic zones in coastal cities to attract foreign
investment, such as Shenzhen and Xiamen. Moreover, Deng, Deng further opened up
more than 30 different cities along the Yangtze river, further opening up China. As a
result, trade was greatly promoted and trade value of China skyrocketed. In
comparison, in the maoist period Mao developed China as a self reliant economy that
did not rely on trading. However, in the post Maoist period, China was opened up to
the world to facilitate economic development, being completely different from the

maoist period.

In terms of using technology, Mao neglected using technology but Deng emphasized
it. In the maoist period, Mao did not emphasize using technology to build up China.
For instance, Mao emphasized on “redness” rather than “expertise”, neglecting the
importance of technology in building up economy. Moreover, in the Nationwide Iron
and Steel production campaign, people use backward methods to produce steel such
as using the backyard furnaces, showing low emphasis on technology. However, in the
post mao period, Deng emphasized education and technology. For instance, Deng
introduced “Four modernizations” which included science and technology, and it’s
foundation was education. Thus, Deng promoted educational development of China,
such as passing the compulsory education Law in 1986 to provide 9 year education, in
order to nurture labour with science and technology knowledge to build up China. In
comparison, Mao neglected the use of science and technology in building up China’s
economy but Deng promoted Science and technology as key to modernize China,

showing the vast difference in methods in the two periods.
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In conclusion, although China use government commands to coordinate economic
development in both periods, the Maoist period was vastly different compared to the

post maoist period in terms of production method, ownership and technology. Thus

the two periods were different to a large extent.

Words: 1263
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2020 Essay Question 4: World War II

Mark: /25

To what extent did the Paris Peace Settlement (1919-23) cause the Second World

War? Explain your answer with reference to European history in the period 1919-
39

EEZRAN4T(1919-23)FF (TR B T 38 R FRRRRHYIR S ? 8% 1919-39
FERVEONEE S » BERRIRIVEIS -

The Paris Peace Settlement brought huge impact on world order and was a cause for
the Second World War. It’s importance will be discussed in terms of causing discontent
of Germany and Italy, and causing racial problems regarding newly established nation

states. To a large extent was WW?2 a consequence of the Paris Peace Settlement.

Firstly, it cause discontent of Germany. In the Treaty of Versailles, Germany was forced
to bear the war guilt clause, also losing 12% of population and 13% territory. Germany
even needed to pay US $33 billion reparation to the victorious power. This was a shame
to the germans and they became dissatisfied with the newly established weimar
republic who signed the treaty. As a result, when Hitler established the Nazi party and
called for the violation of the Treaty of Versailles, the german actively supported Hitler
in hopes of regaining national glory by violating the Treaty of Versailles. As a result, it
led to the rise of Hitler in 1933. Afterwards, Hitler kept his promise and start breaking
the Versailles Treaty. For instance he started conscription in 1935 and carried out the
Anschluss in 1938, uniting with Austria, breaking the Treaty. Then, it continued
invading other countries and eventually, Germany invaded Poland in the Versailles
Treaty. This directly sparked off the Second World War and thus the Paris Peace
settlement caused WW?2.

Secondly, Paris Peace Settlement caused discontent of Italy. Before the Paris Peace
Conference, the entente power promised Italy to give her Fiume and Dalmatia if she
supported the Entente side. However, in the Paris Peace Settlement, Italy was not
granted Fiume and Dalmatia but only Istria and Tyrol. This angered the Italians and
they thought that they suffered from Great Humiliation. As a result, the democratic
government who signed the Treaty of St. Germain had low support, allowing the rise
of Mussolini and Facism in 1922. After the rise, Mussolini promised to revenge on the
humiliation and get back national glory, as a result, he forced the acquisition of Fiume

from Yugoslavia in 1924. Afterwards, Italy gained more confidence in starting wars to
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gain national glory and restored the glory of Rome. As a result he invaded Albania in
1939 and intensified world tension, giving rise to the outbreak of WW?2.

Thirdly, the flaws of Paris Peace Settlement caused problem regarding the nation states.
In terms of racial problem, in the Paris Peace Settlement the powers followed the
principle of national self determination in order to prevent nationalism from rising.
However, they excluded Germany, and cause racial problems. For instance many
germans were forced to live in other countries, allowing Hitler to use the national self
determination for its aggression. For instance, Germany carried out Anschluss in 1938
to unite with Austria, who had 6 million german population. Then, Germany
demanded Sudetenland from Czechoslovakia as there were 3 million germans living in
there. Moreover, in terms of balance of power, the newly established nation states
were quite weak, allowing Nazi Germany to esaily invade them. For instance, Germany
invaded Czechoslovakia in 1939 and Czechoslovakia was unable to defend the country.
Eventually Germany invaded Poland in 1939, causing the outbreak of the Second
World War.

There were other factors, but was less important.

The appeasement policy also caused the Second World War. Britain and France
adopted the appeasement policy in the 1930s to allow reconstruction of their
damaged economy. As a result, Britain and France appeased the aggressors and allow
them to expand. For instance, when Germany wanted to restart conscription in 1935,
Britain signed the Anglo-german Naval agreement with Germany and allowed her to
rearm her navy, boosting national strength of Germany. Moreover, when Germany
demanded Sudetenland in 1938, Britain and France held the Munich Conference in
1938 to gave Hitler Sudetenland, which greatly improved national strength of Germany
and boosted his confidence, eventually leading to WW2. However, Paris Peace
Settlement was more important. In terms of causality, it was the Paris Peace
Conference that caused the appeasement policy. For instance, Germany was punished
harshly in the Treaty of Versailles, forced to be disarmed, only having 100 000men. As
a result, Britain was sympathetic towards Germany, when Germany started rearming
as exemplified in the reintroduction of conscription in 1935, Britain allowed Germany
to rearm and even signed the Anglo-german naval agreement with her, boosting

Germany’s confidence, eventually leading to WW2.

The rise of totalitarianism was also important. In the inter war period, totalitarianism

became popular in Europe and rose in different countries. For instance, in Germany,
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Hitler rose to power and carried out military expansions, such as remilitarising
Rhineland in 1936, breaking the Locarno Pact, intensifying world tension. Moreover,
Fascist Italy was established in 1922, and the two major totalitarian countries needed
allies for supporting their invasions. As a result, the two countries became close
together and formed alliances, as exemplified in the formation of Berlin-Rome-Tokyo
Axis in 1936. What is more, when Germany was planning to invade Poland, Italy and
Germany signed the Pact of Steel in 1939, officially forming an military alliance,
boosting germany’s confidence in attacking Poland in 1939, causing WW2. However,
Paris Peace Settlement was more important. In terms of causality, Paris Peace
Settlement caused rise of totalitarianism. For instance, in terms of Italy, She was not
given the promised Fiume and Dalmatia in the Treaty of St. Germain, as a result,
Italians supported Mussolini who promised to took back those land to gain back the
glory of Ancient Rome. As a result, Mussolini was widely supported in the March on
Rome in 1922 and came to power, causing rise of Fascism in Europe. Thus Paris Peace

Settlement was more important than rise of totalitarianism.

In conclusion, Paris Peace Settlement was the most important cause to WW2, thus

WW?2 was the consequence of Paris Peace Settlement to a large extent.

Words: 971
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2020 DBQ Question 1: Hong Kong

‘Marks : 10/15

1a) Infer two characteristics of Hong Kong’s political system.(4marks)

BT BBUAHIERYMTEREL - (4 97)

The first characteristics is that governor appointed officials members dominated in the

political system in 1951.

In source A, all included the president of the legislative council himself is the Governor
appointed or even governor himself, showing the political system dominated by

appointed members of Governor.

In source A, 17 out of 26 of the members in the legislative council in 1951 are official
members, account more than half of the total members, showing that the political

system is dominated by appointed official member is a characteristics.

Moreover, ethnic Chinese as the minority is also another characteristics, in source A,
only 5 out of 26 of the members are ethnic Chinese, showing that ethnic Chinese as

the minority in the political system is a characteristics in 1951.
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1b) Identify and explain one administrative problem with reference to the first

paragraph. (3 marks)
SELF—E > B —ETBRE - (347)

Communication problem is one of them.

In source B, “there by considerably increasing the workload of the police officers
briefing non-Chinese speaking members of the Legal Department” showing the
communication problem with a lack of Chinese speaking members in legal department,

caused the inefficiency and administration problem in early 1950s.

In source B, “the police had been pressuring government to appoint a bilingual
Chinese Crown Counsel to facilitate a better understanding and working relationship
with the legal department” showing that as the urge from police hasn’t been satisfied,
communication problem existed due to a lack of bilingual Chinese Crown Counsel,

which is an administrative problem existed in early 1950s.
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1c) Do you agree that Hong Kong had become better in terms of democracy and

racial equality from 1951 until 1997.[S+K] (8 marks)
REEFER 1951-1997 4F » TR TEAEREEEHLE ? [S+KI(8 77)

Yes, | agree.

With respect to democracy, in terms of legislative counsel, from source A, all 26 seats
in legislative counsel were appointed by governor while governor held the position of
president in the counsel, democratic elements were low as no elected seats can be

seen.

Yet, from my own knowledge, in 1995, all 60 seats were elected caused by the reform
of Chris Patten. Moreover, he resigned the position of president or chairperson in
Legislative Council, the position will no longer be dominated by governor, the electoral

element greatly rised in the counsel, democracy had been better in Hong Kong.

With respect to democracy, from my own knowledge, very limited signs of elements
of elections can be seen in the administrative system, in which limited election existed

in Urban Council.

Yet from my own knowledge, the first indirect election of the District Council held in
1982, the first indirect election of Legislative Council held in 1985, moreover, voting
age of the District Council were decrease down to 18 from 21 in 1994, showing that
more democratic elements were seen with increasing elections and expanding
electorate base.

With respect to racial equality, in terms of senior civil servants, in source B, “the police
had been pressuring government counsel to facilitate a better understanding and
working relationship with the legal department” in 1951, showing that no signs of

senior civil servants were held by local Chinese in 1951, racial equality wasn’t achieved.

Yet, from my own knowledge, in 1989, Li Kwan Ha, became the first Chinese
Commissioner of Police, in 1993, Anson Chan was the first Chinese Chief Secretary,
showing that localization of senior servants quickly began in 90s, showing racial

equality has improved with more local Chinese held position of senior civil servants.

With respect to the racial equality, in terms of receivements of Chinese, in source B,

7 n

“| was advised that expatriate terms were not to be granted to me” “thus to be paid
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no more than a minimum flat salary without any living quarters” said by Yu Shuk Siu,
alocal Chinese, showing that the livelihood of Chinese were poor as even local Chinese
official received poor payment from colonial government, huge discrimination on

Chinese were seen.

Yet, from my own knowledge, in 1983, Public Assistance Scheme and 1993’s
Comprehensive Social Security Scheme were introduced to provide transfer payment
to local Chinese, the receivements even for grassroots improved gradually, racial

equality was achieved.

With respect to racial equality, in terms of political participation, in source A, only 5
out of 26 members in Legislative Council were ethnic Chinese, showing huge racial

inequality in political participation in 1951.

Yet, from my own knowledge, Legislative Council in 1990s has been dominated by
Chinese, including Szeto Wah, Lee Chun Ming, the racial equality improved due to

higher local Chinese political participation.
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2020 DBQ Question 2: Japan&China

|Marks : 5/7

2a) Conclude one problem that hindered China’s modernization efforts. (3 marks)

R T B EES IR — (BRI - (3 7)

In source C, "but rarely study law and politics, which, however, are the essential
subjects to study if China is to reform itself." showing that lack of people studying in
law and politics failed to fulfill the urgent need of reform in China, hindering the

modernisation efforts in China.

In source C, "in view of China‘s current needs, it is almost impossible for students to
spend more than six or seven years on such subjects." showing that the Chinese
unwilling to study law and politics related subjects, showing lack of emphasis on law

and politics which hindered the 'current needs' of modernization.
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2b) How successful were the revolutionaries in overthrowing the Qing

government? (4 marks)

FEay A ERREBE S EA SR ? (4 5)

In a large extent, the revolutionaries are successful.

In source D, although "the Qing government is heartless, burning and killing
everywhere, so that people earnestly wish to see the arrival of our army" showing that
some places were still under the Qing control and wish to see the liberation of those

areas by revolutionaries, in some extent, it was unsuccessful.

Yet, "Now China’s southeastern part has largely settled down, with cities of 14
provinces flying the revolutionary army's new flag" showing the revolutionaries still

liberated many provinces, which is successful in overthrowing Qing.

Moreover, even if "considering the fact that Yuan Shi Kai of the Qing government may
be remorseful about his wrongdoing" Nonetheless, "at this time when the new
government has been set up" showing revolutionaries still have created new

government in overthrowing Qing, it was successful.

In conclusion, in a large extent, the revolutionaries were successful.
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2020 DBQ Question 3: International economic cooperation

Marks : 12/15

3a) How did the cartoon provoke fear towards Germany? (3 marks)

BE PR FEEHIRME ? (3 )

Source E’s cartoon provoke fear towards Germany by satirising that French ECSC

provide opportunity for Nazi to rise.

In source E, the Konrad Adenauer, Chancellor of the West Germany sat on the goose
of Robert Schumann, showing that Germany controlled France in order to create

something.

While in the source E, the goose eats 'steel' or 'coal' while producing metal helmets of
'SS', which represented Nazi, towards the direction of Germany, as shown in the signs,
showing that French’s ECSC provides military strength to Germany for Nazi to rise while

using the coal and steel, provoking fear of French people towards the rising of Nazi.

In source E, the caption is "The Goose With Eggs of Steel" while the cartoon published
in 1951 after the treaty for forming the ECSC, showing that by satirising French
organisation of ECSC will provide military strength of steel for the rise of Nazis from

Germany, provoking fear towards Germany.
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3b) Is Source F meant to support or oppose Britain’s entry into the EEC?(4 marks)

SRR » BRSCRPE R RHPEBIIIABCHE B ILERE ? (4 77)

Source F was meant to support Britain’s entry.

InsourceF, 1., "entry into European community would not of course affect the position
of Monarchy" showing promise of entry to EEC will not jeopardise harmed the

monarchy in Britain, providing confidence to Britain for its entry, thus showing support.

In source F, 2., "The member states recognise that it is not in practice possible to force
another member State to act contrary to its vital national interest" showing further
promise that British entry towards EEC Will not harm its 'vital national interest' as
Britain will not be forced to act policy contrary to its interest, further showing support

of her entry with convincing promises.
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Do you agree that European economic integration was irresistible in the period
1945-20007? (8 marks)

In a large extent, | agree.

Although in source E, the caption is ''The Goose With the Eggs of the Steel" while the
goose of Robert Schumann was eating 'coal' and 'steel' to produce helmets for SS,
worries towards the integration through ECSC will provide opportunities for the rise of

Nazism from Germany will hinder or resist the integration efforts in 1951.

While in source F, there are debates over the British entry to the European economic
community in the British Foreign and Commonwealth Office in 1971, showing that
possible worries of integration jeopardized the interest of Britain caused debates over

the issue, the worries may resist the integration in 1971.

From my own knowledge, there are the worries of jeopardizing national uniqueness
and characteristics of Britain in Denmark by refusing to accept the Schengen
agreement in 1985 and joining Eurozone in 1999, which may resist the European

economic integration.

Yet, in the large extent, it is irresistible.

In source F, "there is no question of any of these giving up their sovereignty, such
conducive advantage caused five other monarchies among the members and
applicants" showing that the monarchy rule will not be affected, which attracted

monarchical countries in Europe to join integration without doubt, thus was irresistible.

Moreover, in source F, "although the treaties provide for majority voting on most
matters" but the states will not act "contrary to its vital national interest" showing that
the promise of preserving national interest of integration served as a driving force to

push states with certain worries to join integration, the integration is irresistible.

Moreover, from my own knowledge, although Europe was greatly harmed after World
War |l after 1945, with economic integration like Marshall plan in 1949, providing 13
billion to revive their economy, in 1970s, Europe became the second largest economy
in the world, showing great economic reward received caused countries will be

irresistibly join the integration in 1940s-1960s.
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Moreover, from my own knowledge, during the 70s to 2000, integration like Single
European Act in 1986, 1993’s European Union, aimed to collaborate together for
creating a stronger Europe through single administrative organization. Thus, the aim

of uniting Europe will cause the integration irresistible in the later period.

Moreover, regarding the western and eastern economic integration during post-Cold
War period in 90s, after the downfall of Soviet Union in 1991, COMECON was dissolved
eventually, with poor conditions of economic environment in Eastern states, the
Western and Eastern economic integration was irresistible due to the assistance
needed for Eastern European states, causing Eastern states like Poland can enter the

waiting list on EU in the late 90s, integration is irresistible.

Moreover, regarding British integration to Europe, the successful entry to European
Community in 1973 marked that the economic integration was irresistible as Britain
led EFTA members start joining integration in the 70s. Thus, the integration is

irresistible.
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2020 DBQ Question 4: World War |

‘Marks : 13/15

4a) Conclude two types of peacekeeping efforts. (4 marks)

B AR AERF RISV 7(4 )

Setting up peacekeeping official and unofficial organizations is one of them.

In source G, many of the winners are the important members, like president or
secretary in peacekeeping official organization, like IPU, PIPB, showing that setting
official organizations for peacekeeping helped facilitated peace during the period of
1901 to 1913.

In source G, even unofficial organizations, president or founders like ‘International
Committee of the Red Cross', 'German peace society’, 'French peace society' showing

establishing unofficial organizations is also a peacekeeping effort.
While creating conference for promoting peacekeeping law is another.

In source G, Tobias Asser in 1911 was awarded due to "initiator of the conference on
International Private Law at Hague" and also "Institute of International Law was
awarded in 1904 for promoting international arbitration in two Hague conference"
showing creating conference in the use of promoting peacekeeping laws and efforts is

one of the efforts.
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4b) What was the cartoonist’s view towards the prospect of peace? (3 marks)

BEFHNPHIRIRREEEL? 3 1)

Cartoonist think that although peace may not be seen currently, yet in the future, it

will rise, the prospect of peace won’t be gloomy.

In source H, the woman 'peace' was sleeping due to a curse cast upon her, showing

that in short time, peace may not yet be achieved.

Yet, in source H, the man Edward Grey was coming to rescue her and to liberate her
from the evil spell by kissing her, with doves representing peace, flying beside the man,
thus, peace will be awakened and rise again.

In source H, the title "Prince Charming and the sleeping beauty" while the caption
"Wake up, Miss, if you please" showing that peace will be awakened by using kiss of

diplomacy, which the prospect of peace will not be gloomy in the future.
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4c) Do you agree that the trend of peacekeeping was stronger than that of
military rivalry in the period 1900-14? [S+K](8 marks)

R Fy 1900-14 £ER] - ERFRISPHTBISLE RIRE S HHIHIESIE R ? [S+KI(8
)

Yes, | agree.

Although in source H, the cartoon was published during Balkan Crisis while "the peace
was asleep due to curse cast upon her" Worse still, lightening can be seen, showing

that military rivalry happened in that period which hindered the peace.

Moreover, from my own knowledge, in terms of military colonial rivalry happened in
1905 and 1911 exemplified by the two Moroccan Crisis at the period, the military

rivalry existed during that period.

Yet, in source G, people with contribution of setting up peacekeeping organisations
regardless official or unofficial like IPU, PIPB and 'French Peace Society' was awarded
peacekeeping efforts through setting organisations was still prevalent at that period
from 1901 to 1913.

Moreover, in source G, the peacekeeping even extend to holding peace conference like
Hague Conference shown in the awardees of Nobel Peace Prizes in 1904, 1907, 1909,

1911, showing major efforts of peacekeeping in the trend were shown.

From my own knowledge, peacekeeping efforts of general disarmament like London
Conference in 1913, showing major efforts of peacekeeping trend at the period in

Europe.

Moreover, with the alliance system in Europe like Triple Entente in 1907, Triple Alliance
Existed during the period, European states like Germany, Russia, Britain with
individually with their alliance to ensure the peace among regions by maintaining the

balance of power, which acts as peacekeeping for the period.

In comparison, in the source H, the Prince Edward Grey will kiss the Princess of peace
so as to liberate her from the dark spell, even saying "'wake up, Miss, if you please"
showing that the military rivalry induced by Balkan crisis will soon be alleviated, while
peacekeeping through diplomacy will eventually turn peace to rise, thus peacekeeping

trend is stronger than military rivalry in the period in 1912.
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In comparison, from my own knowledge, even military agreement like Anglo-French
naval agreement was signed in 1912 just to ensure the peace of European countries
stay away from aggressions, showing that the peacekeeping trend was still stronger
than military rivalry, as military agreements were signed to ensure peace among

European countries.
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2020 Essay Question 2: China

Mark: 18/25

BRERE RN NP TRV R R R AR S KA E ?

How far were the methods of economic development adopted in the Maoist

period different from those in the Deng Xiaoping era?

During the Maoist period, economic developments in the method with high degree of
collectivisation, self-sufficient economic policy and emphasis on public ownership,
while post-Mao period economic development used methods with great difference
than before. Yet, both period still maintained to use planned economic method to

facilitate economic growth. Thus, in a large extent, these methods are different.

In terms of degree of collectivisation, during the Mao period, economic policy of high
degree of collectivisation were used. Exemplified by the first five year plan during the
1952-57, according to the ‘one transformation, three changes’ in the plan’s aim,
cooperatives and mutual aid teams were set up upon the agricultural and the
handicraft aspects. While high degree of collectivisation were shown in the
cooperatives with sharing of resources. While in Great Leap Forward in 1959-62, the
signs of collectivisation still exhibited in the organisation established like People’s
Commune during the Great Leap Forward. People shared their food and resources so
as to practice collectivisation promoted in communism. The culture of ‘everybody
eating out from the same pot’ further proved the such method of economic

development in Maoist period.

While in post-Maoist period, low degree of collectivisation, in other words,
individualisation were promoted in economic development. During the ruling of Dang
Xiao Ping, individualised production greatly emphasis in ‘contract system’
‘shareholding system’ and ‘township village enterprises’, where economic freedom
were provided to facilitate individualised production. While such practice extend to
Chinese leaders like Jiang Jie Man’s economic development. Moreover, individualised
economic production was also exhibited in ‘socialism with Chinese characteristics’
while introduced more individualisation similar to that in capitalist economic structure.
In comparison, their methods showed a large difference as during the most period,
high degree of collectivisation were shown in mutual aid teams, cooperatives. While
in the post Maoist period, individualisation was promoted through the economic

development with capitalist elements like various systems and individualised
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enterprises were promoted during the post-Mao period. Thus, The two methods
showed great difference with reference to this aspect.

In terms of openness of economy, Maoist period advocated the self-sufficient
economic policy for development. Exemplified by the mass melting of iron and steel
campaign in Great Leap Forward in 1959, over 90 million peasants joined so as to
create steel with their own efforts and resources. Without help from foreign countries,
The self-sufficient economic policy was introduced to sustain Chinese economy.
Moreover, as United Nations issued trade embargo on China in 1950, China during
Mao period relied on self-sufficiency, exemplified by the land reform law in 1950,
which turned land to landless peasants of 300 millions, showing that the economic

method was majority based on own efforts.

While during the post Mao period, Open economic methods were used instead.
Exemplified by the Reform and Opening up policy proposed by Deng in 1978, Open
Economic Zones and Special Economic Zones were introduced to a foreign investors,
14 coastal cities like Xiamen, Shang Hai were introduced to foreign countries to
facilitate foreign trade and import and export. The effect shown is that there is a record
of 23-fold increase in import and export of China during the period exhibited The use
of open economic method during the post-Mao period. In comparison, in terms of
openness of economy, post-Mao period shown great difference with that of Maoist
period, with open economic development to facilitate foreign trade instead of the self-
sufficient efforts like in Maoist period, two methods on economic openness shown

great difference.

Although in terms of Open economic method and degree of collectivisation, their
methods showed great changes, still, The practice of planned economic method was
still maintained. During the Mao period, advocated by the Mao Zedong’s thoughts and
the Marxism-Leninism, that economy was greatly controlled by the government.
Exemplified by the enterprises in first five year plan, enterprises were greatly
encouraged to convert themselves into public-private joint ownership, or even later
evolve to public ownership to ensure large influence of government over the economic
decision of market and enterprises, for example the quote produce. This practice
further shown in Cultural Revolution, with the government fully controlled the
economy, due to the thinking, that ‘all economic activities were act of capitalism’,
many Factories and market were forced to shut down ensure that socialist pathway
that China was undergoing. All economic decisions were suspended single-handedly

by the government. Thus, it can show that, with the large influence of government
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over economy and enterprises, planned economic method we are advocated during
the Maoist period.

Yet, such planned economic method for development although had some changes, but
still, similar to the methods before. For example, single track price system were
converted to dual track price system in reform and opening up policy by Deng,
suggesting government controlled price still remained in the market. Moreover,
‘Household responsibility system’ was also introduced, which is about that peasants
can earn their own surplus once they have fulfilled the government quotas. Moreover,
Chinese government often used name of * macroeconomic adjustment’ to interrupt
market and currency Exchange rate in the later period. Thus, it showed that planned
economic methods for development still greatly remain with government price,
qguotas and adjustment of economy. In comparison, the use on quotas, intervention
for interruption on economy with government prices and regulations had not changed
much, and showed no great difference between the Maoist period and the post-
Maoist period. Leaders like Mao, Deng, Jiang still greatly advocated such planned
economic development to facilitate economic growth across the Maoist period and
post-Maoist period.

In conclusion, although that planned economic method to facilitate economic
development still showed no great difference between Mao period and post-Maoist
period with the interruption of economy through the influence of government instead
after ‘invisible hand’ of economic market, yet in terms of open economic method and
use of collectivisation to promote economic development showed great difference
between Mao and post-Mao period. Thus, in a large extent, the economic methods of

economic development are different between two periods.

Words: 990
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2020 Essay Question 4: World War II

Mark: 20/25

To what extent did the Paris Peace Settlement (1919-23) cause the Second World
War? Explain your answer with reference to European history in the period 1919-
39

EEZRAN4T(1919-23)FF (TR B T 38 R FRRRRHYIR S ? 8% 1919-39
FERVEONEE S » BERRIRIVEIS -

Paris Peace Settlements in 1919 held by Big Three, including France, Britain and the US
was to discuss and arrange the arrangement on European situation after the first world
war, but it later soon created into a consequence of another world war in 1939, in the
aspects of Germany, Italy, nation states. Thus, in the large extent, it is a consequence

of the Paris Peace Settlements.

In terms of Germany, in the Paris Peace Settlements 'Treaty of Versailles', as one of the
losing power after the world war, Germany, had to accept harsh punishments of
creating the world war, including to decrease in 10% of territorial land, including areas
like Saar Coalfield and Alsace Lorraine to France, Sudentenland to Czechoslovakia,
while also, it has to bear the humiliating clause of 'war guilt clause'. Moreover, the
punishment extends beyond the humiliating clause, punishments like limiting German
army to 100000. While at that time, the representatives from the German
government-Weimar Republic signed the humiliating treaty which accepted the
humiliating and unfair treaty terms for Germany. It later induced great discontent and
anger among German public due to the grave humiliation and harms to sovereignty.
Thus, the public desired to abolish the treaty so as to eliminate the humiliation and
restored national glory of Germany, they turned their support to Nazi party led by
extreme rightist leader Hitler, which promised to abolish the Treaty for German public,
thus, the Paris Peace Conference’s severe punishment on Germany created the rise of
Hitler, which later advocated policies of aggression to abolish the treaty, including re-
introducing conscription in 1935, invasion of Danzig city in Poland in 1939, which lost
to Poland because of the humiliating treaty. The invasion of Poland created by Hitler
in 1939 later evolved into the direct cause for the outbreak of Second World War. Thus,
Second World War is caused by the aggression policy adopted by Germany which
aimed to abolish the treaties terms in Paris peace settlements. Thus is a consequence
of it.
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In terms of Italy, before the First World War, as the Triple Entente promised Italy to
provide Fiume and Dalmatia so as to lure Italy deviate from triple alliance. Yet after the
war in Paris peace Settlements in 1919, according to the Treaty of Saint Germain, ltaly
only received lands like Istria and Tyrol, which is different from what it has promised.
Thus, the grave discontent from the Italian public gave rise and supported the fascist
party led by Mussolini, which aimed to initiate aggression and invasion so as to obtain
the land they ought to deserve and restore Italian national glory which is jeopardized
by the Paris Peace Conference. The March on Rome in 1922 gave rise to Fascist party,
which later advocated the expansionist policy to regain what they promised.
Exemplified by the forceful acquisition of Fiume in 1924, forcing Albania to become its
protectorate in 1927 and eventually the invasion on Albania in 1939, which led to the
highest tension of war among Europe and inevitably caused the Second World War.
Therefore, it can be seen that Second World War was a consequence of Italian series
of aggression which was caused by the wrong and unfair treatment in Paris Peace

Settlements.

In terms of nation states, in the Paris Peace Settlements, in order to prevent the ethnic
conflict which may lead to world war like Sarajevo incident in 1919. The big three in
Paris peace settlements advocated the Wilson’s idea of National Self-Determination in
Wilson’s 14 points to discuss settlements. For example, areas occupied by Germany
was ceded to new nations like Poland and Czechoslovakia. Yet, during the conference
although new nations states were created in order to resolve the potential ethnic
arguments in the future, the balance of power was neglected during the settlements,
new nation states formed usually equipped with weak military strength, for example,
Czechoslovakia was invaded within weeks, they soon became preys of aggressors.
Moreover, the principle did not include Germany which later aroused its anger to
invade, for example, in Sudetenland with a germanic population of 3 million was ceded
to Czechoslovakia, which later evolved to the target of Nazi Germany in 1938 and even
city of Danzig, which was also ceded due to the incomprehensive judgement of the
principal, causing the invasion of Poland occurred in 1939, which sparked the Second
World War. Thus, the Second World War was the consequence of the incomprehensive
thought of adopting National Self-Determination, which created weak preys for

aggressors and excuse to invade caused by Paris Peace Settlements in 1919.

Second World War is also a consequence of Great Depression. As Great Depression
occurred in 1929, involving European states economy, for example, Germany’s
unemployed people reached 6 million at that time with the poor economic

environment created by great depression. Aggressors like Germany, in Nazi Germany,

OKW.HO - (##82 2020) AR BRARESER | 1)

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



KWH®

HIS TORN R R F S TR
Hitler proposed to adopt expansionist policy in order to gain 'lebensraum’ (living space)
for poor German public, which later advocated further aggression like Anschluss in
1938, invasion of Poland in 1939 to gain more interest in order to save the economy,
which sparked the outbreak of Second World War, thus Second World War is a

consequence of Great Depression in 1929.

Yet, in terms of cause-effect relationship, it is because Paris Peace Settlements caused
Great Depression. In Treaty of Versailles, Germany was forced to pay reparation of 33
billion USD, which is impossible to pay for Germany at the time. Thus, Weimar Republic
joined American loan plan like Dawes plan in 1929 to seek additional financial help,
causing German economy formed linkage with American economy through loan plan
which lead to evolved from Wall Street Crash in America to Great Depression which
caused severe effect on Germany. Thus, Second World War in the large extent still was

the consequence of Paris Peace Settlements.

Second World War is also a consequence of appeasement policy. In 1938, Munich
conference was held in order to satisfy Germany's demand for territory over
Sudentenland. Appeasement policy was adopted while German ambition to invade
was also boosted, causing the further aggression on the surrounding states in Europe,

which inevitably cause World War through invasion of Poland in 1939.

In terms of cause-effect relationship, it is the harsh punishment created during the
Paris Peace Conference caused Britain and France to adopt appeasement policy, as the
punishment was too severe for Germany. One of the big three, Britain actively request
for lenient punishment on Germany, thus shown in afterwards, Germany's repayment
can be reduced in the 20s under consent of Britain and France. And in 1936, Anglo-
German Naval Agreement was signed so as to let Germany build 35% of British naval
power. The harsh punishment on Germany because of Paris Peace Conference caused
Britain and France to adopt lenient attitude towards aggressors request, which later
known as appeasement policy. Therefore, the Second World War is a consequence of

the Paris Peace Settlements is still to a large extent correct.

Therefore, in the large extent, the Second World War is a consequence of Paris Peace
Settlements. (1919-1923)

Words: 1171

OKW.HO - (##82 2020) AR BRARESEHR | )9

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



1505 - BeE - BhA - BN &

HISTORY:

2020 . 5**

e

TR

=72 All in One Super Course F#aTE Al 4 BEREH AR VHT A4 - 50T

BEITEWHERMEANER > TS ERE M EERR 5 - thaFERrydt A

VBREIE(S S HIIEA -
e R B AP R TR - AESHEBAGTS - DBQ EASH —EIAEREK T - B
Essay B3l - (A » VB TEMRAT IR Essay IREACHPTLE, » S BE R

FHFN 17-20 S3KF: < 15 DSE 5 » FH{FE 19 B AR L2 05 AR

MHEEH - ZREILZOREK > S ERETEER -

130

RECRAE - BEAINEERAR

OKW.HO - (5% 2020)
B IRFIRMEENES - ST IR TRV -

Ei[kw. Ho [2] @) [kwhohistory [



KWH®

HISTORY NG T

R 2 0

EATEEEATGR - R SEFEE HIHIR kw 8 @ FE RS Z ol B EI A E LM - K
F P MEZ A DSE hist B ZIEGRTET 2620 Skl - AR FHEIEE )74 present {RIER
point {5 marker B » FTRABRIVE SEERERSCN A 2 40, — B Z0E 1t B oK IR E L point, 5
L/ tips KSR -

DBQ:
Ltime FFIFRAVEHRE—E G E SR - 1 RIS kw FOREZ I RS IF %
» i time management —E—EJFHEEL » dse MIFREGHEPEE

2.0 548 H 5 R B [E B B 5T 26 25 {[E point > FEER T IRERAE kw ZEE skill 22 {E 1
H & R— R Al — E B2 eg:language,argument,view,changes etc. f{{3X R H %ok
B ERZ A A A 5 2 -

3. RRIEAREE LU point [FINEE > ©HCEANKET &80 NN © &
£ dse WEHF5 a b B LERH EERIEE test fHEL > Frll ¢ BESE] 9-10 ([ point K5 (A
BEIRy 1)

Essay

Essay J71il » NFE—E ZHAEEH - [FEHEZEA (—R 2 [A > Trace and explain, more
than) » fRiX format B Ht/T ORI » A0 AR SR SORAR R 8 7774 - sy ER
REETTEIRAR > JRAKERYE cover BE[EEHE FHR 24N » TREN R E SR R4 7025
P AT HIBFffE - TCHE essay ZUEFEMMNZS Mg 577 > FeF dse (EFEER A Ly
(IR AR BB ERE H 11T 5] LUk cop 7475 ©)

Bttt o A — RO A LR R R ORI test [HTHER | 138 5 CSE0E dse
SeIEEEIL > T E B GBS GRS A Ea—R @

FIBARFSETUREHYE dse A[REFREETT - (HRFMARE > A.O0ER—EHHK
> FRIAK NN > SF47FI A AR Rt — g5 @ s |

OKW.HO - (##82 2020) AU BRARESENE | 139

EiKW.ro 1] (@)[kwhohistory [ s RTINS ENERR > SBEEHRELIRTIRI T -



HRET S/ NVOESE R GRS > EE TR
G DEEUFREAREERITEN 5**%4% > KW {2 A &AL

Hello cyruz - BHFERN - SHEESTHE
& & 1P EiBkdeadline EMEZEIT
MEBEEBESM? oo

REEEG

5 .

B4 EH 0

OKW.HO - (&% 2020)

BREREENHEE

2.4

HARS BB

“+3:50

EREFHRERISH? -

2.
| T=E

RECRAE - BEAINEERAR

Eilkw.Ho 2] (@) [kwhohistory [

s R TIR S ERERSY -

B E  TARAIREE SRS

ERSE><!

132

SBEEFRELIR IR -



